
MATHS

BOOKS - BEYOND PUBLICATION

PROGRESSIONS

Example

1. Which of these are arithmetic progressions

and why? 

(i) 2,3,5,7,8,10,15, ......

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GJW6JXnLpJ6P


Watch Video Solution

2. Which of these are arithmetic progressions

and why? 

(ii) 2,5,7,0,12,15,....

Watch Video Solution

3. Which of these are arithmetic progressions

and why? 

(iii) .......

Watch Video Solution

−1, − 3, − 5, − 7,

https://dl.doubtnut.com/l/_GJW6JXnLpJ6P
https://dl.doubtnut.com/l/_2xrrNikulGR5
https://dl.doubtnut.com/l/_rgjuz1DYlTio


4. Write 3 more Arithmetic Progressions.

Watch Video Solution

5. Think how each of the list given above form an

A.P. Discuss with your friends. 

(a) Heights (in cm) of some students of a school

standing in a queue in the morning assembly are

147, 148, 149,......,157

Watch Video Solution

https://dl.doubtnut.com/l/_rgjuz1DYlTio
https://dl.doubtnut.com/l/_zwUfUhFYoxoT
https://dl.doubtnut.com/l/_0OZkwxAiLPTH
https://dl.doubtnut.com/l/_LNnV3L28pLnm


6. Think how each of the list given above form an

A.P. Discuss with your friends. 

(b) Minimum temperatures (in degree celcius)

recorded for a week, in the month of January in a

city, arranged in assending order are 

Watch Video Solution

−3.1, − 3.0, − 2.9, − 2.8, − 2.7, − 2.6, − 2.5

7. Think how each of the list given above form an

A.P. Discuss with your friends. 

(c) The balance money (in Rs.) after paying 5% of

https://dl.doubtnut.com/l/_LNnV3L28pLnm
https://dl.doubtnut.com/l/_iZHHFUfyXJN1


the total loan of Rs. 1000 every month is 

950, 900, 850, 800, ....,50

Watch Video Solution

8. Think how each of the list given above form an

A.P. Discuss with your friends. 

(d) Cash prizes (in Rs.) given by a school to the

toppers of classes I to XII are 200, 250, 300,

350,.......,750 respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_iZHHFUfyXJN1
https://dl.doubtnut.com/l/_u4Ir5VMYgZmP


9. Think how each of the list given above form an

A.P. Discuss with your friends. 

(e) Total savings (in Rs.) after every month for 10

month when Rs. 50 are saved each month are 50,

100, 150, 200, 250, 300, 350, 400,450,500.

Watch Video Solution

10. Make a positive Arithmetic Progression in

which the common difference is a small positive

quantity.

Watch Video Solution

https://dl.doubtnut.com/l/_HvZkA5sla6QC
https://dl.doubtnut.com/l/_eXgYWSYSbG2q


11. Make an A.P. in which the common difference

is big (large) positive quantity.

Watch Video Solution

12. Make an A.P. in which the common difference

is negative.

Watch Video Solution

https://dl.doubtnut.com/l/_eXgYWSYSbG2q
https://dl.doubtnut.com/l/_YS9OTMJGSTx5
https://dl.doubtnut.com/l/_qm6Ux3fYLHxS


13. Write three examples for finite A.P and three

for infinite A.P.

Watch Video Solution

14. Take any Arithmetic progression.

Watch Video Solution

15. Add a fixed number to each and every term of

A.P. Wrtie the resulting numbers as a list.

Watch Video Solution

https://dl.doubtnut.com/l/_z6dJlND2cZ4W
https://dl.doubtnut.com/l/_n7de3tVex6nv
https://dl.doubtnut.com/l/_DrlowkZtlxgf


Watch Video Solution

16. Similarly subtract a fixed number from each

and every term of A.P. Write the resulting

numbers as a list.

Watch Video Solution

17. Multiply and divide each term of A.P. by a fixed

number and write the resulting numbers as a

list.

Watch Video Solution

https://dl.doubtnut.com/l/_DrlowkZtlxgf
https://dl.doubtnut.com/l/_JiyB8C9Xf9DG
https://dl.doubtnut.com/l/_xw4rzmhNLqui


18. Write the negation of the following

statements and check whether the resulting

statements are true, 

The sum of 3 and 4 is 9.

Watch Video Solution

19. For the AP: , .........., write

the first term a and the common difference d.

And find teh  term.

Watch Video Solution

, , ,
1

4

−1

4

−3

4

−5

5

7th

https://dl.doubtnut.com/l/_xw4rzmhNLqui
https://dl.doubtnut.com/l/_ra6fmwyMF2Xw
https://dl.doubtnut.com/l/_hgz1pO8BoEIO


20. Which of the following forms an AP? If they

form AP, then write next two terms. 

(i) 4,10 ,16,22 .....

Watch Video Solution

21. Which of the following forms an AP? If they

form AP, then write next two terms. 

(ii) 

Watch Video Solution

1, − 1, − 3, − 5, .......... .

https://dl.doubtnut.com/l/_hgz1pO8BoEIO
https://dl.doubtnut.com/l/_iVPbw5Pj3gRR
https://dl.doubtnut.com/l/_MLayADzBgRMX
https://dl.doubtnut.com/l/_zkXOyx4bp9AB


22. Which of the following forms an AP? If they

form AP, then write next two terms. 

(iii) 

Watch Video Solution

−2, 2, − 2, 2, − 2, .......... .

23. Which of the following forms an AP? If they

form AP, then write next two terms. 

(iii) 

Watch Video Solution

1, 1, 1, 2, 2, 2, 3, 3, 3, ....... .

https://dl.doubtnut.com/l/_zkXOyx4bp9AB
https://dl.doubtnut.com/l/_SMz924JoDjJX


24. Which of the following forms an AP? If they

form AP, then write next two terms. 

(v) 

Watch Video Solution

x, 2x, 3x, 4x, .......... .

25. In which of the following situations, does the

list of numbers involved make an arithmetic

progression, and why? 

(i) The taxi fare after each km when the fare si Rs.

20 for the first km and rises by Rs. 8 for each

additional km.

https://dl.doubtnut.com/l/_VGtCSYu91kJT
https://dl.doubtnut.com/l/_UX2BsIbnXvdp


Watch Video Solution

26. In which of the following situations, does the

list of numbers involved make an arithmetic

progression, and why? 

(ii) The amount of air present in a cylinder when

a vacuum pump removes  of the air

remaining in the cylinder at a time.

Watch Video Solution

1/4th

https://dl.doubtnut.com/l/_UX2BsIbnXvdp
https://dl.doubtnut.com/l/_9q07c1QAby7t


27. In which of the following situations, does the

list of numbers involved make an arithmetic

progression, and why? 

(iii) The cost of digging a well, after every metre

of digging, when it costs Rs. 150 for the first

metre and rises by Rs. 50 for each subsequent

metre.

Watch Video Solution

28. In which of the following situations, does the

list of numbers involved make an arithmetic

https://dl.doubtnut.com/l/_ltDRVoCS9OU9
https://dl.doubtnut.com/l/_VWlyzdbUdsYA


progression, and why? 

(iv) The amount of money in the account every

year, when Rs. 10000 is deposited at compound

intrest at  per annum.

Watch Video Solution

8 %

29. Write first four terms of the AP, when the first

term a and the common difference d are given

as follows: 

(i) a = 10, d = 12.

Watch Video Solution

https://dl.doubtnut.com/l/_VWlyzdbUdsYA
https://dl.doubtnut.com/l/_FcafFJbPAS9I


30. Write first four terms of the AP, when the first

term a and the common difference d are given

as follows: 

(i) a = 10, d = 12.

Watch Video Solution

31. Write first four terms of the AP, when the first

term a and the common difference d are given

as follows: 

(iii) a = 4, d = -3.

Watch Video Solution

https://dl.doubtnut.com/l/_ZX1ASa3qKijQ
https://dl.doubtnut.com/l/_GCXqkceE1qyN


32. Write first four terms of the AP, when the first

term a and the common difference d are given

as follows: 

(iv) a = -1, d = .

Watch Video Solution

1

2

33. Write first four terms of the AP, when the first

term a and the common difference d are given

as follows: 

(v) a = -1.25, d = -0.25.

https://dl.doubtnut.com/l/_GCXqkceE1qyN
https://dl.doubtnut.com/l/_OzwqvF9Go3hP
https://dl.doubtnut.com/l/_AMeZaGWdJYVp


Watch Video Solution

34. For the following A.Ps, write the first term

and the common difference: 

(i) 3,1,-1,-3,…..

Watch Video Solution

35. For the following A.Ps, write the first term

and the common difference: 

(ii) -5,-1,3,7,…..

Watch Video Solution

https://dl.doubtnut.com/l/_AMeZaGWdJYVp
https://dl.doubtnut.com/l/_S62McTDExo7S
https://dl.doubtnut.com/l/_RUpRLJcNvyWO


36. For the following A.Ps, write the first term

and the common difference: 

(iii) 

Watch Video Solution

, , , ….
1

3

5

3

9

3

13

3

37. For the following A.Ps, write the first term

and the common difference: 

(iv) 0.6, 1.7, 2.8,3.9,…..

Watch Video Solution

https://dl.doubtnut.com/l/_RUpRLJcNvyWO
https://dl.doubtnut.com/l/_boS0Ynbf1Y4I
https://dl.doubtnut.com/l/_eW3WMcs2tgBi


38. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(i) 2,4,8,16,……

Watch Video Solution

39. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(ii) 

Watch Video Solution

2, , 3, , …….
5

2
7
2

https://dl.doubtnut.com/l/_oIwlwxIeDlKF
https://dl.doubtnut.com/l/_xoPPujNyewVP


40. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(iii) 

Watch Video Solution

−1.2, − 3.2, − 5.2, − 7.2, …. .

41. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(iv) −10, − 6, − 2, 2, …….

https://dl.doubtnut.com/l/_xoPPujNyewVP
https://dl.doubtnut.com/l/_556KskOnxQoz
https://dl.doubtnut.com/l/_ua0DQok9vyH2


Watch Video Solution

42. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(v) 

Watch Video Solution

3, 3 + √2, 3 + 2√2, 3 + 3√2……

43. Which of the following are Aps? If they form

an AP, find the common difference d and write

https://dl.doubtnut.com/l/_ua0DQok9vyH2
https://dl.doubtnut.com/l/_LsbinF5HCyy5
https://dl.doubtnut.com/l/_YkUQBgNOoPpY


three more terms. 

(vi) 

Watch Video Solution

0.2, 0.22, 0.222, 0.2222, …….

44. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(i) 2,4,8,16,……

Watch Video Solution

https://dl.doubtnut.com/l/_YkUQBgNOoPpY
https://dl.doubtnut.com/l/_mgELd3rbJBD2


45. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(viii) 

Watch Video Solution

− , − , − , − , ……. .
1

2

1

2

1

2

1

2

46. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(ix) 1,3,9,27,……..

Watch Video Solution

https://dl.doubtnut.com/l/_e9zjiWSZsIWW
https://dl.doubtnut.com/l/_6N7O3rcu28me


47. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(x) 

Watch Video Solution

a, 2a, 3a, 4a, ……. .

48. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(x) a, 2a, 3a, 4a, ……. .

https://dl.doubtnut.com/l/_6N7O3rcu28me
https://dl.doubtnut.com/l/_PGCXnTCMJdQc
https://dl.doubtnut.com/l/_EIF7EF2UZAZL


Watch Video Solution

49. Which of the following are Aps? If they form

an AP, find the common difference d and write

three more terms. 

(xii) 

Watch Video Solution

√2, √8, √18, √32, …….

50. Which of the following are Aps? If they form

an AP, find the common difference d and write

https://dl.doubtnut.com/l/_EIF7EF2UZAZL
https://dl.doubtnut.com/l/_7jJiBxB35hhq
https://dl.doubtnut.com/l/_UnugPdeZ2T8o


three more terms. 

(xiii) 

Watch Video Solution

√3, √6, √9, √12, ………

51. Find the  term of the AP: 5,1,-3,-7 .......

Watch Video Solution

10th

52. Which term of the AP: 21,18,15, ...... Is -81? Is

there any term 0? Give reason for your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_UnugPdeZ2T8o
https://dl.doubtnut.com/l/_1V31NYPg4RVv
https://dl.doubtnut.com/l/_EIyMBu5eysod


53. Determine the AP whose  term is 5 and the

 term is 9.

Watch Video Solution

3rd

7th

54. Check wether 301 is a term of the list of

numbers 5, 11, 17, 23, .....

Watch Video Solution

https://dl.doubtnut.com/l/_EIyMBu5eysod
https://dl.doubtnut.com/l/_jWZuST7cjIJP
https://dl.doubtnut.com/l/_2sXNDoQvpjcB


55. How many two-digit numbers are divisible by

3?

Watch Video Solution

56. Find the  term from the last of the A.P

series given below: 

A.P : 10, 7, 4, ......, -62

Watch Video Solution

11th

https://dl.doubtnut.com/l/_zXPQDTqZCpSK
https://dl.doubtnut.com/l/_gtGXpDrtU3CW


57. A sum of Rs. 1000 is invested at 8% simple

interest per year. Calculate the interest at the

end of each year. Do these interests form a AP? If

so, find the interest at the end of 30 years.

Watch Video Solution

58. If a flower bed, there are 23 rose plants in the

first row, 21 in the second, 19 in the third, and so

on. There are 5 rose plants in the last row. How

many rows are there in the flower bed?

Watch Video Solution

https://dl.doubtnut.com/l/_n5Xf40vdfJyA
https://dl.doubtnut.com/l/_rN1I3EutUbbU


59. Fill in the blanks in the following table, given

that 'a' is the first term, d the common difference

and  the  term of the A.P :

Watch Video Solution

an nth

https://dl.doubtnut.com/l/_rN1I3EutUbbU
https://dl.doubtnut.com/l/_IcphaO6oJhhq


60. Find the 

(i)  term of the A.P. : 10,7,4, ……

Watch Video Solution

30th

61. Find the 

(ii)  term of the A.P. : 

Watch Video Solution

11th −3, , 2, …….
−1

2

62. The  term of an A.P exceeds its  term

by 7. find the common difference.

17th 10th

https://dl.doubtnut.com/l/_63yz2hNpxYgP
https://dl.doubtnut.com/l/_Zrixe5XJJ1hj
https://dl.doubtnut.com/l/_rnU75737seXE


Watch Video Solution

63. Two APs have the same common difference.

The difference between their  terms is 100,

what is the difference between their 

terms ?

Watch Video Solution

100th

1000th

64. How many three-digit numbers are divisible

by 7 ?

Watch Video Solution

https://dl.doubtnut.com/l/_rnU75737seXE
https://dl.doubtnut.com/l/_8axAEF2L9TXH
https://dl.doubtnut.com/l/_YXUMtTsHPITF


65. How many mulitiples of 4 lie between 10 and

250?

Watch Video Solution

66. For what value of n, are the  terms of two

Aps : 63, 65,67, …. and 3, 10, 17, …… equal?

Watch Video Solution

nth

https://dl.doubtnut.com/l/_YXUMtTsHPITF
https://dl.doubtnut.com/l/_FwztDM88Pd6P
https://dl.doubtnut.com/l/_tcO5nDqyxBSr


67. Determine the AP whose third term is 16 and

the  term exceeds the  term by 12.

Watch Video Solution

7th 5th

68. Find the  term from the end of the AP : 3,

8 , 13, …..253.

Watch Video Solution

20th

69. The sum of the  and  terms of an AP is

24 and the sum of the  and  terms is 44.

4th 8th

6th 10th

https://dl.doubtnut.com/l/_tj28iHyRFmYr
https://dl.doubtnut.com/l/_w5XEduuWKPUW
https://dl.doubtnut.com/l/_OKc2sptfjUtu


find the first three terms of the AP.

Watch Video Solution

70. Subba Rao started work in 1995 at an annual

salary of Rs. 5000 and recived and increment of

Rs. 200 each year. In which year did his income

reach Rs. 7000 ?

Watch Video Solution

https://dl.doubtnut.com/l/_OKc2sptfjUtu
https://dl.doubtnut.com/l/_LqUylddjf5ZO


71. Find the sum of the following Aps, 

(i) 2,7,12,…..to 10 terms. 

(ii) , to 12 terms 


(iii) 0.6, 1.7, 2.8,…… to 100 terms 

(iv) , ………….. To 11 terms.

Watch Video Solution

−37, − 33, − 29

, ,
1

15

1

12

1

10

72. Find the sum of the following APs. 

(iv) ……, ot 11 terms.

Watch Video Solution

, , ,
1

15

1

12

1

10

https://dl.doubtnut.com/l/_OL445IppRHPE
https://dl.doubtnut.com/l/_0mzbfuI4wdwk


73. Find the sums given below: 

(i) .

Watch Video Solution

7 + 10 + 14 + ……. + 84
1

2

74. Find the sums given below: 

(ii) .

Watch Video Solution

34 + 32 + 30 + …. + 10

75. Find the sums given below: 

(iii) −5 + ( − 8) + ( − 11) + …… + ( − 230)

https://dl.doubtnut.com/l/_PROIwLJSExRf
https://dl.doubtnut.com/l/_UcaZPGcIGyes
https://dl.doubtnut.com/l/_7bRphiW6RKJT


Watch Video Solution

76. In an AP: 

(i) Given a=5, d=3, , find n and  


(ii) given a=7, , find d and . 


(iii) given , find a and  


(iv) given , find d and  


(v) given a=2, d= 8, , find n and  


(vi) given , find n and

a. 

(vii) given l=28, S= 144, and there are total 9

terms, find a.

an = 50 Sn

a13 = 35 S13

a12 = 37, d = 3 S12

a3 = 15, S10 = 125 a10

Sn = 90 an

an = 4, d = 2, Sn = − 14

https://dl.doubtnut.com/l/_7bRphiW6RKJT
https://dl.doubtnut.com/l/_b6BpU9ikpAuT


Watch Video Solution

77. In an AP: 

(ii) Given , find d and .

Watch Video Solution

a = 7, a13 = 35 S13

78. In an AP: 

(iii) Given , find a and .

Watch Video Solution

a12 = 37, d = 3 S12

https://dl.doubtnut.com/l/_b6BpU9ikpAuT
https://dl.doubtnut.com/l/_OSnq7BR17qN6
https://dl.doubtnut.com/l/_Dzuv4WnRRYjQ


79. In an AP: 

(iv) Given , find d and .

Watch Video Solution

a3 = 15, S10 = 125 a10

80. In an AP: 

(v) Given , find n and .

Watch Video Solution

a = 2, d = 8, Sn = 90 an

81. Find the sum of the first 40 positive intergers

divisible by 6.

https://dl.doubtnut.com/l/_NYUWyiUAwYc0
https://dl.doubtnut.com/l/_XdQMcknPu4Q3
https://dl.doubtnut.com/l/_SmtGc3iEpjDd


Watch Video Solution

82. A sum of Rs. 700 is to be used to give seven

cash prizes to students of a school for their

overall academic performance. If each prize is Rs.

20 less than its preceding prize. Find the value of

each of prizes.

Watch Video Solution

83. In a school, students thought of planting

trees in an around the school to reduce air

https://dl.doubtnut.com/l/_SmtGc3iEpjDd
https://dl.doubtnut.com/l/_zcLz89txmlHa
https://dl.doubtnut.com/l/_nGCrfQLhIj43


pollution. It was decided that the number of

trees, that each section of each class will plant,

will be the same as the class. In which they are

studying e.g., a section of Class I will plant 1 tree,

a section of Class II will plant 2 trees and so on

till Class XII. There are three sections of each

class. How many trees will be planted by the

students?

Watch Video Solution

84. A sprial is made up of successive semicircles,

with centres alternately at A and B, starting with

https://dl.doubtnut.com/l/_nGCrfQLhIj43
https://dl.doubtnut.com/l/_pXwOUOuamUo3


centre at A, of radii 0.5 cm, 1.0 cm, 1.5 cm , 2.0 cm,

….. As shown in figure. What is the total length of

such a spiral made up of thirteen consecutive

semicircles? (Take ) 


[Hint : Length of successive semicircles is

...... with centres at A, B,A,B, .....,

respectively.] 

Watch Video Solution

π =
22

7

l1, l2, l3, l4,

85. 200 logs are stacked in the following manner

: 20 logs in the bottom row, 19 in the row above,

https://dl.doubtnut.com/l/_pXwOUOuamUo3
https://dl.doubtnut.com/l/_i13jmr9reEB7


18 in the row above to it and so on. In how many

rows are the 200 logs placed and how many logs

are in the top row ?

Watch Video Solution

86. In a bucket and ball race, a bucket is placed at

the starting point. Which is 5m from the first

ball, and other balls are placed 3m apart in a

straight line. There are ten balls in the line. 

 

A competitor starts from the bucket, picks up

the nearest ball, runs back with it, drops it in the

https://dl.doubtnut.com/l/_i13jmr9reEB7
https://dl.doubtnut.com/l/_fmP1anXJvzgG


bucket, runs back to pick up the next ball, runs

to the bucket to drop it in, and she continues in

the same way until all the balls are in the bucket.

What is the total distance the competitor has to

run? 

[ Hint: To pick up the second ball, the total

distance (in metres) run by a competitor is

]

Watch Video Solution

2 × 5 + 2 × (5 + 3)

87. Find which of the following are not G.P. 

(i) 6,12, 24, 48, ......

https://dl.doubtnut.com/l/_fmP1anXJvzgG
https://dl.doubtnut.com/l/_92LYiImldLDg


Watch Video Solution

88. Find which of the following are not G.P. 

(ii) 1,4,9,16,.....

Watch Video Solution

89. Find which of the following are not G.P. 

(iii) 1, -1, 1, -1,......

Watch Video Solution

https://dl.doubtnut.com/l/_92LYiImldLDg
https://dl.doubtnut.com/l/_xYqvVnCKavWz
https://dl.doubtnut.com/l/_MaVQHR9bLNDC
https://dl.doubtnut.com/l/_TjKA3FYYf9kR


90. Find which of the following are not G.P. 

(iv) 

Watch Video Solution

−4, − 20, − 100, − 500, ......

91. Explain why each of the lists above is a G.P. 

(i) 1, 4, 16, 64, 256,.......

Watch Video Solution

92. Explain why each of the lists above is a G.P. 

(ii) 550, 605, 665.5, .......

https://dl.doubtnut.com/l/_TjKA3FYYf9kR
https://dl.doubtnut.com/l/_yheHmAwaFQyk
https://dl.doubtnut.com/l/_8Hobwnp6w49e


Watch Video Solution

93. Explain why each of the lists above is a G.P. 

(iii) 256, 128, 64,32,......

Watch Video Solution

94. Explain why each of the lists above is a G.P. 

(iv) 18, 16.2, 14.58, 13.122 ......

Watch Video Solution

https://dl.doubtnut.com/l/_8Hobwnp6w49e
https://dl.doubtnut.com/l/_jSF3PFjpsY0c
https://dl.doubtnut.com/l/_rwHHSxPWcxJT


95. To know about a G.P. What is minimum

information that we need?

Watch Video Solution

96. Write the G.P. If the first term a=3, and the

common ratio r= 2.

Watch Video Solution

97. Write G.P. If .

W t h Vid S l ti

a = 256, r =
−1

2

https://dl.doubtnut.com/l/_J4im49Ztp3oJ
https://dl.doubtnut.com/l/_mJHmPV7qIujU
https://dl.doubtnut.com/l/_W10Zppfb8MG2


Watch Video Solution

98. Find the common ratio of the G.P. 

.

Watch Video Solution

25, − 5, 1,
−1

5

99. Which of the following list of number form

G.P. ? 

(i) 3, 6, 12, ......

Watch Video Solution

https://dl.doubtnut.com/l/_W10Zppfb8MG2
https://dl.doubtnut.com/l/_PK7WFQkuk8HK
https://dl.doubtnut.com/l/_mBgyHdrUXHzG
https://dl.doubtnut.com/l/_EEoS2Gep4t73


100. Which of the following list of number form

G.P. ? 

(ii) 64, -32, 16, ......

Watch Video Solution

101. Which of the following list of number form

G.P. ? 

(iii) , .......

Watch Video Solution

, ,
1

64

1

32

1

8

https://dl.doubtnut.com/l/_EEoS2Gep4t73
https://dl.doubtnut.com/l/_SyLbA3Cv1fMw


102. In which of the following situations, does

the list of numbers involved in the form a G.P.? 

(i) Salary of Sharmila, when her salary is Rs.

5,00,000 for the first year and expected to

receive yearly increase of 10%.

Watch Video Solution

103. In which of the following situations, does

the list of numbers involved in the form a G.P.? 

(ii) Number of bricks needed to make each step,

if the stair case has total 30 steps. Bottom step

https://dl.doubtnut.com/l/_bjOS4PpX5kYh
https://dl.doubtnut.com/l/_hXO46rxSt8YJ


needs 100 bricks and each successive step needs

2 bricks less than the previous step.

Watch Video Solution

104. In which of the following situations, does

the list of numbers involved in the form a G.P.? 

(iii) Perimeter of the each triangle , when the

mid-points of sides of an equilateral triangle

whose side is 24 cm are joined to form another

triangle, whose mid-point in turn are joined to

form still another triangle and the process

https://dl.doubtnut.com/l/_hXO46rxSt8YJ
https://dl.doubtnut.com/l/_uEnquqsMLuiW


continues indefinitely. 

Watch Video Solution

105. Write three terms of the G.P. when the first

term 'a' and the common ratio 'r' are given. 

(i) a = 4, r = 3

Watch Video Solution

https://dl.doubtnut.com/l/_uEnquqsMLuiW
https://dl.doubtnut.com/l/_J7bEIymxp5Fj


106. Write three terms of the G.P. when the first

term 'a' and the common ratio 'r' are given. 

(ii) .

Watch Video Solution

a = √5, r =
1

5

107. Write three terms of the G.P. when the first

term 'a' and the common ratio 'r' are given. 

(iii) .

Watch Video Solution

a = 81, r = −
1

3

https://dl.doubtnut.com/l/_v9gJ0FdeQ6Io
https://dl.doubtnut.com/l/_4PGZLdkxrjFA


108. Write three terms of the G.P. when the first

term 'a' and the common ratio 'r' are given. 

(iv) .

Watch Video Solution

a = , r = 2
1

64

109. Which of the following are G.P.? If they are

G.P., write three more terms. 

(i) 4,8,16,….

Watch Video Solution

https://dl.doubtnut.com/l/_pycAk9GDibkR
https://dl.doubtnut.com/l/_Tnz61NAYfSau


110. Which of the following are G.P.? If they are

G.P., write three more terms. 

(ii) 

Watch Video Solution

, , , …….
1

3

−1

6

1

12

111. Which of the following are G.P.? If they are

G.P., write three more terms. 

(iii) 

Watch Video Solution

5, 55, 555, ……. .

https://dl.doubtnut.com/l/_Jve9WZL6pj4X
https://dl.doubtnut.com/l/_Oe03vm3Bw2Dd


112. Which of the following are G.P.? If they are

G.P., write three more terms. 

(iv) 

Watch Video Solution

−2, − 6, − 18, ………

113. Which of the following are G.P.? If they are

G.P., write three more terms. 

(v) ,…..

Watch Video Solution

, ,
1

2

1

4

1

6

https://dl.doubtnut.com/l/_Lh3tcbI0vaAY
https://dl.doubtnut.com/l/_rrNlbqeMhxfl


114. Which of the following are G.P.? If they are

G.P., write three more terms. 

(vi) ,…….

Watch Video Solution

3, − 32, 33

115. Which of the following are G.P.? If they are

G.P., write three more terms. 

(vii) 

Watch Video Solution

X, 1, , …. .
1

X

https://dl.doubtnut.com/l/_C1DB38D8D2tn
https://dl.doubtnut.com/l/_MZ4w52tjT9sb


116. Which of the following are G.P.? If they are

G.P., write three more terms. 

(viii) , ……

Watch Video Solution

, − 2,
1

√2

8

√2

117. Which of the following are G.P.? If they are

G.P., write three more terms. 

(ix) 

Watch Video Solution

0.4, 0.04, 0.004, ……….

https://dl.doubtnut.com/l/_Z9FvufiHP1xm
https://dl.doubtnut.com/l/_Lis4xi4jCII8


118. Find x so that  are

consecutive terms of a geometric progression.

Watch Video Solution

x, x + 2, x + 6

119. Find the  and  term of the G.P. 


,.......

Watch Video Solution

20th nth

, ,
5

2

5

4

5

8

120. Which term of the G.P. 

, ..... Is 128?2, 2√2, 4

https://dl.doubtnut.com/l/_ek7zl8MP2X34
https://dl.doubtnut.com/l/_a5l2eEyaKDov
https://dl.doubtnut.com/l/_las0SAonz4NI


Watch Video Solution

121. In a GP the  term is 24 and  term is 192.

find the  term.

Watch Video Solution

3rd 6th

10th

122. For each geometric progression find the

common ratio 'r', and then find . 


(i) 

Watch Video Solution

an

3, , , , ……. .
3

2

3

4

3

8

https://dl.doubtnut.com/l/_las0SAonz4NI
https://dl.doubtnut.com/l/_IjURX6KCI525
https://dl.doubtnut.com/l/_9iW4rJKzMXQN


123. For each geometric progression find the

common ratio 'r', and then find . 


(ii) 

Watch Video Solution

an

2, − 6, 18, − 54

124. For each geometric progression find the

common ratio 'r', and then find . 


(iii) 

Watch Video Solution

an

−1, − 3, − 9, − 27, ………….

https://dl.doubtnut.com/l/_a5uClaFlRVVy
https://dl.doubtnut.com/l/_1pcDImWS4rJi


125. For each geometric progression find the

common ratio 'r', and then find . 


(ii) 

Watch Video Solution

an

2, − 6, 18, − 54

126. Find the  and  term of G.P. : 5, 25,

125,…..

Watch Video Solution

10th nth

https://dl.doubtnut.com/l/_b9vaKAUddOUw
https://dl.doubtnut.com/l/_zInNeVxaaAQL


127. Find the indicated term of each geometric

progression. 

(i) , find .

Watch Video Solution

a1 = 9, r =
1

3
a7

128. Find the indicated term of each geometric

progression. 

(ii) , find .

Watch Video Solution

a1 = − 12, r =
1

3
a6

https://dl.doubtnut.com/l/_4YQwUlXtHFn9
https://dl.doubtnut.com/l/_RRuFBNHtWw1D


129. Which term of the G.P. 

(i) 2, 8, 32,….is 512?

Watch Video Solution

130. Which term of the G.P. 

(ii) ?

Watch Video Solution

√3, 3, 3√3, ……is729

131. Which term of the G.P. 

is ?

, , , ……….
1

3

1

9

1

27
1

2187

https://dl.doubtnut.com/l/_y9CGNQCYbBJ1
https://dl.doubtnut.com/l/_PT9O4y8CkXGc
https://dl.doubtnut.com/l/_NTQQ8v55dLCj


Watch Video Solution

132. Find the  term of a G.P. whose  term is

192 and the common ratio is 2.

Watch Video Solution

12th 8th

133. The  term of a geometric progression is 

 and the seventh term is . Find the

geometric series.

Watch Video Solution

4th

2

3

16

81

https://dl.doubtnut.com/l/_NTQQ8v55dLCj
https://dl.doubtnut.com/l/_ExQp6AWkJJEe
https://dl.doubtnut.com/l/_YAzPtXcmrDa3


134. If the geometric progressions

 have

their  term equal, find the value of n.

Watch Video Solution

162, 54, 18, ……. . And , , , ….
2

81

2

27

2

9

nth

135. Which term of the AP : 

is the first negative term? [Hint: Find n for

]

Watch Video Solution

121, 117, 113, …. . ,

an < 0

https://dl.doubtnut.com/l/_ULpUjHWEFfrN
https://dl.doubtnut.com/l/_kr3ItV7Z2tFx


136. The sum of the third and the seventh terms

of an AP is 6 and their product is 8. find the sum

of first sixteen terms of the AP.

Watch Video Solution

137. A larger has rungs 25 cm apart. The rungs

decrease uniformaly in length from 45 cm at the

bottom to 25 cm at the top. If the top and the

bottom rungs are  m apart. What is the

length of the wood required for the rungs? [

2
1

2

https://dl.doubtnut.com/l/_3yCDvGll6HHb
https://dl.doubtnut.com/l/_MR9R4GacUuIP


Hint : Number of rungs = ] 


Watch Video Solution

+ 1
250

25

https://dl.doubtnut.com/l/_MR9R4GacUuIP


138. The house of a row are numbered

consecutively form 1 to 49. Show that there is a

value of x such that the sum of the numbers of

the house preceding the house numbered x is

equal to the sum of the numbers of the houses

following it. And find this value of x. [ Hint:

] 11

Watch Video Solution

Sx− 1 = S49 − Sx

139. A small terrace at a football ground

comprises of 15 steps each of which is 50 m long

https://dl.doubtnut.com/l/_Nk3hggbAHR8x
https://dl.doubtnut.com/l/_AxLg1T881Xth


and built of solid concrete. 

Each step has a rise a  m and a tread of m.

(sec Fig.). Calculate the total volume of concrete

required to build the terrace. 

[ Hint : Volume of concrete reuqired to build the

first step = ] 


Watch Video Solution

1

4

1

2

× × 50m31

4

1

2

140. 150 workers were engaged to finish a piece

of work in a certain number of days. Four wirkers

dropped from the work in the second day. Four

https://dl.doubtnut.com/l/_AxLg1T881Xth
https://dl.doubtnut.com/l/_ioKue74zZsUh


workers dropped in third day and so on. It took 8

more days to finish the work. Find the number of

days in which the work was completed.

Watch Video Solution

141. A machine costs Rs. 5,00,000. if the value

depreciates 15% in the first year,  in the

second year, 12% in the third year and so on.

What will be its value at the end of 10 years,

when all the percentages will be applied to the

original cost?

Watch Video Solution

13 %
1

2

https://dl.doubtnut.com/l/_ioKue74zZsUh
https://dl.doubtnut.com/l/_8Ynq7McoNAgG


142. Check whether -25 is a term in the

progression 5,3,1, ……., or not?

Watch Video Solution

143. Find out the common ratio in the GP `2,

sqrt(2),4,…..

Watch Video Solution

https://dl.doubtnut.com/l/_8Ynq7McoNAgG
https://dl.doubtnut.com/l/_DdkSI5hlCLq9
https://dl.doubtnut.com/l/_Ib32BRNizBAp


144. The hand borewell driller charges Rs. 200

for the first one meter only and raises drilling

charges @ 30/- for every subsequent meter.

Write a progression for the above data.

Watch Video Solution

145. In a flower garden there are 23 plants in first

row, 21 plants in second row, 19 plants in 3rd row

and so on. If there are 10 rows in that garden,

then find the total number of plants in the last

https://dl.doubtnut.com/l/_FAB5XV54nh4r
https://dl.doubtnut.com/l/_41DgT2jqg8TO


row with the help of the formula

Watch Video Solution

tn = a + (n − 1)d

146. Find the sum of first 200 natural numbers.

Watch Video Solution

147. If the sides of a triangle are in AP. The

perimeter of the trianbgle is 30cm. The

https://dl.doubtnut.com/l/_41DgT2jqg8TO
https://dl.doubtnut.com/l/_4FCOkmdhhmrr
https://dl.doubtnut.com/l/_VcT0FIVUbbqG


difference between the longer and shorter side

is 4 cm. Then find all sides of the triangle.

Watch Video Solution

148. Find the sum of all 3 digit numbers that are

divisible by 4.

Watch Video Solution

149. For the following A.Ps write the first term

and the common difference. 

https://dl.doubtnut.com/l/_VcT0FIVUbbqG
https://dl.doubtnut.com/l/_JzCpsEWKKD8M
https://dl.doubtnut.com/l/_wmSny4uhtSBq


Watch Video Solution

, , , , …
1

4

1

2

3

4

5

4

150. For the following A.Ps write the first term

and the common difference. 

5,8,11,14,17,….

Watch Video Solution

151. For the following A.Ps write the first term

and the common difference. 

https://dl.doubtnut.com/l/_wmSny4uhtSBq
https://dl.doubtnut.com/l/_oiEzMb2FHqY2
https://dl.doubtnut.com/l/_lQtki1j3qrXX


Watch Video Solution

, 1, , , . .
1

3

5

3
7
3

152. Write the first four terms of the A.P. when

the first term 'a' and the common 'd' are given as

follows. 

a = 6, d = -2

Watch Video Solution

https://dl.doubtnut.com/l/_lQtki1j3qrXX
https://dl.doubtnut.com/l/_fwtIZq8ivWEP


153. Write the first four terms of the A.P. when

the first term 'a' and the common 'd' are given as

follows. 

a = -3, d = 4

Watch Video Solution

154. Write the first four terms of the A.P. when

the first term 'a' and the common 'd' are given as

follows. 

a = x+2y, d = -y

Watch Video Solution

https://dl.doubtnut.com/l/_bjVXYY4WFdIK
https://dl.doubtnut.com/l/_wktLSGVdo1lR


155. Write the first four terms of the A.P. when

the first term 'a' and the common 'd' are given as

follows. 

a= 8, d= 5

Watch Video Solution

156. Which of the following are APs? If they form

an AP, find the common difference and write

three more terms 

3,5,7,9,…

https://dl.doubtnut.com/l/_wktLSGVdo1lR
https://dl.doubtnut.com/l/_zQRYJIsKyFZO
https://dl.doubtnut.com/l/_J79Vl9T2Z7NE


Watch Video Solution

157. Which of the following are APs? If they form

an AP, find the common difference and write

three more terms 

5,9,7,3,….

Watch Video Solution

158. Which of the following are APs? If they form

an AP, find the common difference and write

https://dl.doubtnut.com/l/_J79Vl9T2Z7NE
https://dl.doubtnut.com/l/_5owkTUPVxWUR
https://dl.doubtnut.com/l/_36r5udAsIMX6


three more terms 

Watch Video Solution

3, , , 4…
10

3

11

3

159. Which of the following are APs? If they form

an AP, find the common difference and write

three more terms 

0,-3,-6,-9,-12

Watch Video Solution

https://dl.doubtnut.com/l/_36r5udAsIMX6
https://dl.doubtnut.com/l/_6abAKzwJO9Eo


160. Which of the following are APs? If they form

an AP, find the common difference and write

three more terms 

a,4a,7a,10a…..

Watch Video Solution

161. Fill in the blanks in the following table. 

Watch Video Solution

https://dl.doubtnut.com/l/_oS3PZrqM9dGU
https://dl.doubtnut.com/l/_i3iUGZFlPf1p
https://dl.doubtnut.com/l/_cQ2nrfFChZYe


162. Write the terms of the G.P. When the first

term 'a' and the common ratio 'r' are given. 

a= 5, r = 2

Watch Video Solution

163. Write the terms of the G.P. When the first

term 'a' and the common ratio 'r' are given. 

, 

Watch Video Solution

a = √3 r =
1

2

https://dl.doubtnut.com/l/_cQ2nrfFChZYe
https://dl.doubtnut.com/l/_EZhCEEv38K6n


164. Write the terms of the G.P. When the first

term 'a' and the common ratio 'r' are given. 

a = 16, 

Watch Video Solution

r = −
1

2

165. Which of the following are GP? If them are

G.P, write 3 more terms. 

3,15,75,…..

Watch Video Solution

https://dl.doubtnut.com/l/_r3amocFt8dRo
https://dl.doubtnut.com/l/_YZ6NhTRD1TwM


166. Which of the following are GP? If they are

G.P, write 3 more terms. 

Watch Video Solution

, , , …
1

2

1

6

1

18

167. Write the first three terms of GP if 

, 

A. 1/2, 1/6, -1/18

B. -1/2, -1/6, -1/18

C. 1/2, -1/6, 1/18

a =
1

2
r = −

1

3

https://dl.doubtnut.com/l/_F64J3mOO5yCj
https://dl.doubtnut.com/l/_MWxr0Msfvqxb


D. 1/2, 1/6, 1/18

Answer:

Watch Video Solution

168. Which of the following are GP? If them are

G.P, write 3 more terms. 

-5,-10,-20,…

Watch Video Solution

https://dl.doubtnut.com/l/_MWxr0Msfvqxb
https://dl.doubtnut.com/l/_3DbRdpwdRPHC


169. Which of the following are GP? If them are

G.P, write 3 more terms. 

-0.3,-0.03,-0.003,….

Watch Video Solution

170. For each geometric progression find the

common ratio 'r' and then find  


Watch Video Solution

an

2, , , , ….
2

3

2

9

2

27

https://dl.doubtnut.com/l/_U44URZfSivUq
https://dl.doubtnut.com/l/_DiuOuB49zxXX


171. For each geometric progression find the

common ratio 'r' and then find  


-3,-6,-12,-24,…

Watch Video Solution

an

172. Find the  and  term of GP. 


6,18,54,…

Watch Video Solution

8th nth

https://dl.doubtnut.com/l/_7HkuhNcjBNUo
https://dl.doubtnut.com/l/_mwuXtTThKpwi


173. Find the indicated term of each G.P. 

 , find 

Watch Video Solution

a1 = 8, r =
1

2
a8

174. Find the indicated term of each G.P. 

 , find 

Watch Video Solution

a1 = − 10, r =
1

5
a5

175. If the sum of the first 25 terms of an A.P. is

16, 250 and First term is 50. Then find the 15th

https://dl.doubtnut.com/l/_vJOJvJlYNyT0
https://dl.doubtnut.com/l/_inYx2fUZuMEZ
https://dl.doubtnut.com/l/_5ypEcWoSqGK8


term.

Watch Video Solution

176. If the sum of the first 10 terms of an A.P. is

1,200 and First term is 30. Then find the  term.

Watch Video Solution

6th

177. 10,30,90,270 are in G.P. Then find the 

and  terms.

Watch Video Solution

15th

20th

https://dl.doubtnut.com/l/_5ypEcWoSqGK8
https://dl.doubtnut.com/l/_VvBfIPNk9sZh
https://dl.doubtnut.com/l/_TKId74WqtZ8x


178. 7,14,28,… are in G.P. Then find the  and 

terms.

Watch Video Solution

7th 10th

179. Find y so that y,y+2,y+3 are consecutive

terms of a geometric progression.

Watch Video Solution

https://dl.doubtnut.com/l/_TKId74WqtZ8x
https://dl.doubtnut.com/l/_SzOVvA4YDzGV
https://dl.doubtnut.com/l/_TZvBoBa7Pyjw


180. Find z so that z+1,z+2,z+3 are consecutive

terms of a geometric progression.

Watch Video Solution

181. If a=3, d = 5, . Then find 'n' and .

Watch Video Solution

Sn = 1010 an

182. If a= 4, d= 3, . Then find 'n' and .

Watch Video Solution

Sn = 69 an

https://dl.doubtnut.com/l/_3jihW0F1ujU6
https://dl.doubtnut.com/l/_YDHVyMAu7Rk2
https://dl.doubtnut.com/l/_dEOQM7gKQzlT


Exercise

1. For the following A.Ps write the first term and

the common difference. 

Watch Video Solution

, , , , ……
1

6

1

3

1

2

2

3

2. For the following A.Ps write the first term and

the common difference. 

Watch Video Solution

π + 3, π + 1, π − 1, π − 3, …

https://dl.doubtnut.com/l/_HbQOvYGSNzB7
https://dl.doubtnut.com/l/_gNEr8ZcrEVyy


3. For the following A.Ps write the first term and

the common difference. 

a-3b,a+b,a+5b,a+9b,…..

Watch Video Solution

4. For the following A.Ps write the first term and

the common difference. 

0,-4,-8,-12,-16,…

Watch Video Solution

https://dl.doubtnut.com/l/_gNEr8ZcrEVyy
https://dl.doubtnut.com/l/_nGLYF0vYiGUg
https://dl.doubtnut.com/l/_df7R2alVBojP
https://dl.doubtnut.com/l/_rW5ksknjmtBV


5. For the following A.Ps write the first term and

the common difference. 

2,5,8,11,…..

Watch Video Solution

6. Write the first four terms of the A.P. when the

first term 'a' and the common 'd' are given as

follows. 

a= 8, d=-1

Watch Video Solution

https://dl.doubtnut.com/l/_rW5ksknjmtBV
https://dl.doubtnut.com/l/_oylvUAkNjUmC
https://dl.doubtnut.com/l/_2iqc9hZF9YvL


7. Write the first four terms of the A.P. when the

first term 'a' and the common 'd' are given as

follows. 

a= -1, d= 3

Watch Video Solution

8. Write the first four terms of the A.P. when the

first term 'a' and the common 'd' are given as

follows. 

a = x+y, d = -2y

Watch Video Solution

https://dl.doubtnut.com/l/_2iqc9hZF9YvL
https://dl.doubtnut.com/l/_U09yx0bkISpf


9. Write the first four terms of the A.P. when the

first term 'a' and the common 'd' are given as

follows. 

a=0, d = -2

Watch Video Solution

10. Write the first four terms of the A.P. when the

first term 'a' and the common 'd' are given as

follows. 

a= 9, d = 4

https://dl.doubtnut.com/l/_U09yx0bkISpf
https://dl.doubtnut.com/l/_ZFG8RHNo3EdE
https://dl.doubtnut.com/l/_NgH8apHX3LLE


Watch Video Solution

11. Which of the following are A.Ps? If they form

A.P. find the common difference 'd' and write

three more terms. 

,….

Watch Video Solution

−1, ,
1

4

3

2

12. Which of the following are A.Ps? If they form

A.P. find the common difference 'd' and write

https://dl.doubtnut.com/l/_NgH8apHX3LLE
https://dl.doubtnut.com/l/_GvTAsTrMlcgk
https://dl.doubtnut.com/l/_ScKFBVBAFxmg


three more terms. 

0.8,0.82,0.84,….

Watch Video Solution

13. Which of the following are A.Ps? If they form

A.P. find the common difference 'd' and write

three more terms. 

Watch Video Solution

2 . 3 , 5…….
1

2

3

4

https://dl.doubtnut.com/l/_ScKFBVBAFxmg
https://dl.doubtnut.com/l/_4y336kGQQA8l


14. Which of the following are A.Ps? If they form

A.P. find the common difference 'd' and write

three more terms. 

1,4,9,16,…

Watch Video Solution

15. Which of the following are A.Ps? If they form

A.P. find the common difference 'd' and write

three more terms. 

3,5,6,8,….

Watch Video Solution

https://dl.doubtnut.com/l/_BfBQ9g430xFJ
https://dl.doubtnut.com/l/_AJcAwpzsnUTx


16. Which of the following are A.Ps? If they form

A.P. find the common difference 'd' and write

three more terms. 

-5,5,-5,5,…

Watch Video Solution

17. Find the  term of the A.P. 7,11,15,19,….

Watch Video Solution

30th

https://dl.doubtnut.com/l/_AJcAwpzsnUTx
https://dl.doubtnut.com/l/_t12x1lU5I687
https://dl.doubtnut.com/l/_fltJ1vaYk0Im


18. Find the  term of the A.P: -11,-9,-7,….

Watch Video Solution

10th

19. Find the  term and  term of the A.P

16,11,6,….

Watch Video Solution

18th 23rd

20. The first term of an A.P. is -2 and the 

term is 16. Determine the  term.

Watch Video Solution

10th

15th

https://dl.doubtnut.com/l/_N4xhncuTINMh
https://dl.doubtnut.com/l/_QbyWoc2TyyzD
https://dl.doubtnut.com/l/_nEsx5y0nCj2X


Watch Video Solution

21. The  term of an A.P. is 17 and the  term

is 39. Find the  term.

Watch Video Solution

8th 19th

25th

22. If m times the  term of an A.P. is equal to

n times the  term, prove that the 

term of the A.P. is zero.

Watch Video Solution

mth

nth (m + n)th

https://dl.doubtnut.com/l/_nEsx5y0nCj2X
https://dl.doubtnut.com/l/_xzJEgApam4Xz
https://dl.doubtnut.com/l/_68wWY2R7q04g
https://dl.doubtnut.com/l/_Nn1PztIYCAGt


23. Each term of an A.P. is doubled. Is the

resulting sequence also an A.P.? If it is, write its

first term, common difference and  term.

Watch Video Solution

nth

24. The third term of an A.P. is 'p' and the fourth

term 'q'. Find the  term and the general term.

Watch Video Solution

10th

https://dl.doubtnut.com/l/_Nn1PztIYCAGt
https://dl.doubtnut.com/l/_BCxgiuHyDc7V


25. Find the  term and  term of the A.P.

21,16,11,….

Watch Video Solution

20th nth

26. Write the first three terms defined by

Watch Video Solution

an =
n

n + 1

27. find the sum of the following A.Ps 

7,11,15,….,12 terms, n terms.

https://dl.doubtnut.com/l/_V0e9nkvcjLSF
https://dl.doubtnut.com/l/_XJxlgKVruGwo
https://dl.doubtnut.com/l/_kDn1CQtDEa2l


Watch Video Solution

28. find the sum of the following A.Ps 

3,5,7,…to 50 terms.

Watch Video Solution

29. find the sum of the following A.Ps 

-2,4,10,….21 terms, 50 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_kDn1CQtDEa2l
https://dl.doubtnut.com/l/_vEwP7S2XL2CB
https://dl.doubtnut.com/l/_QKVkrLidLZva
https://dl.doubtnut.com/l/_4gtrpos6MvwL


30. find the sum of the following A.Ps 

 terms.

Watch Video Solution

1, , , 32, …. . → 81
1

4

3

2

31. Find the sum of 32 terms of an A.P. whose

third term is 1 and  term is -11.

Watch Video Solution

6th

32. Determine the sum of first 35 terms of an A.P.

if  and .a2 = 2 a7 = 22

https://dl.doubtnut.com/l/_4gtrpos6MvwL
https://dl.doubtnut.com/l/_zbV9W7gKzuXb
https://dl.doubtnut.com/l/_kcduqFGk5gOo


Watch Video Solution

33. Find the sum to 'n' terms of an A.P. whose 

term is 30 and  term is 54.

Watch Video Solution

7th

13th

34. How many terms are there in an A.P. whose

first and fifth terms are -14 and 2 respectively,

and the sum of terms is 40?

Watch Video Solution

https://dl.doubtnut.com/l/_kcduqFGk5gOo
https://dl.doubtnut.com/l/_twxvc2dbl4Db
https://dl.doubtnut.com/l/_RwsMruVJiSo3
https://dl.doubtnut.com/l/_OJghpl5MSnWf


35. Find the sum of all natural numbers between

100 and 1000 which are multiples of 6.

Watch Video Solution

36. If the  term of an A.P. is 31 and 15th term is

16 more than the 11th term, find the A.P.

Watch Video Solution

8th

37. Which term of the A.P.5,15,25,… will be 130

more than its  term?31st

https://dl.doubtnut.com/l/_OJghpl5MSnWf
https://dl.doubtnut.com/l/_0qan7MFN0lMf
https://dl.doubtnut.com/l/_yypohSzuyQZy


Watch Video Solution

38. The sum of  and  terms of A.P. is 72 and

the sum of 7th and 12th terms is 97. Find the A.P.

Watch Video Solution

5th 9th

39. How many mulitiples of 4 lie between 10 and

250?

Watch Video Solution

https://dl.doubtnut.com/l/_yypohSzuyQZy
https://dl.doubtnut.com/l/_jAxDrMCpyFbD
https://dl.doubtnut.com/l/_NCiL86iVrQ4b
https://dl.doubtnut.com/l/_S2MckXq3NF8V


40. How many three digit numbers are divisible

by 3?

Watch Video Solution

41. Which term of the A.P. 3,10,17,…. Will be 84

more than its  term?

Watch Video Solution

13th

42. The  term from the end of the AP 7,10,13,

….. 184 is ………..

8th

https://dl.doubtnut.com/l/_S2MckXq3NF8V
https://dl.doubtnut.com/l/_YEnC9ylOuU0l
https://dl.doubtnut.com/l/_xCIsFJkrxKM9


Watch Video Solution

43. Find the  term from the end of the A.P

8,10,12,….,126.

Watch Video Solution

10th

44. Find the sum of all 3-digit natural numbers,

whch are multiples of 11?

Watch Video Solution

https://dl.doubtnut.com/l/_xCIsFJkrxKM9
https://dl.doubtnut.com/l/_wl55rBr0aiGQ
https://dl.doubtnut.com/l/_x4lJ39k4HzFU


45. Find the sum of all 3-digit natural numbers,

which are multiples of 13?

Watch Video Solution

46. Find the sum: 25+ 28+31+…+100.

Watch Video Solution

47. Find the sum of the first 25 terms of an A.P.

whose  term is given by .

Watch Video Solution

nth an = 2 − 3n

https://dl.doubtnut.com/l/_YkLyRlq3E38C
https://dl.doubtnut.com/l/_ewhVcrQSkbjK
https://dl.doubtnut.com/l/_3fQns8xr6wgU


Watch Video Solution

48. The first and the last terms of an A.P. are 17

and 350 respectively. If the common difference is

9, how many terms are there and what is their

sum?

Watch Video Solution

49. For what value of p are 2p+1, 13,5p-3 are

three consecutive terms of an A.P.?

Watch Video Solution

https://dl.doubtnut.com/l/_3fQns8xr6wgU
https://dl.doubtnut.com/l/_rDAErFU7DJNY
https://dl.doubtnut.com/l/_pcaErtsAii9o


50. Find 'r' and write 3 more terms of each of the

following G.Ps. 

,….

Watch Video Solution

, ,
x

y

1

x

y

x3

51. Find 'r' and write 3 more terms of each of the

following G.Ps. 

5,0.5,0.05,….

Watch Video Solution

https://dl.doubtnut.com/l/_pcaErtsAii9o
https://dl.doubtnut.com/l/_Ll0gSq3on8Fj
https://dl.doubtnut.com/l/_7l38sID7YuZ6
https://dl.doubtnut.com/l/_ZF3im74w2eBo


52. Find 'r' and write 3 more terms of each of the

following G.Ps. 

Watch Video Solution

√3, √6, 2√3, 2√6, ……

53. Find 'r' and write 3 more terms of each of the

following G.Ps. 

,….

Watch Video Solution

−3, 1, −
1

3

https://dl.doubtnut.com/l/_ZF3im74w2eBo
https://dl.doubtnut.com/l/_6LoYUFvgvSfl


54. Find 'r' and write 3 more terms of each of the

following G.Ps. 

2,4,8,16,….

Watch Video Solution

55. Find 'r' and write 3 more terms of each of the

following G.Ps. 

Watch Video Solution

− , − 6, − 54, ….
2

3

https://dl.doubtnut.com/l/_pnSCJScB2Hjz
https://dl.doubtnut.com/l/_rhQJyCuKsGjF


56. Which of the following are G.Ps? Write 3

more terms . 

3,33,333,…..

Watch Video Solution

57. Which of the following are G.Ps? Write 3 more

terms . 

Watch Video Solution

1, , , ….
2

3
4
9

https://dl.doubtnut.com/l/_pvWEmAehbYGr
https://dl.doubtnut.com/l/_YH8DFhSopg5e


58. Which of the following are G.Ps? Write 3

more terms . 

Watch Video Solution

1, − a, a2, − a3, …

59. Which of the following are G.Ps? Write 3

more terms . 

4,8,10,20,…

Watch Video Solution

https://dl.doubtnut.com/l/_hApTIFhKXBpF
https://dl.doubtnut.com/l/_2KQgHAFa4JvV


60. Which of the following are G.Ps? Write 3

more terms . 

128,-96,72,…

Watch Video Solution

61. Which of the following are G.Ps? Write 3 more

terms . 

…….

Watch Video Solution

, , ,
8

27

16

81

32

243

https://dl.doubtnut.com/l/_bVfne9dXebjy
https://dl.doubtnut.com/l/_mBroixExDm63


62. Find x so that x,x+4 and x+12 are consecutive

terms of a geometric progression.

Watch Video Solution

63. Find x so that x+1,5x-1, and 10x+7 are in G.P.

Watch Video Solution

64. Write three terms of G.P. when the first term

'a' and the common ratio 'r' are given. 

r = -13 and a =1

https://dl.doubtnut.com/l/_jTr7mGmyTFGJ
https://dl.doubtnut.com/l/_rVxIg8OgH9cQ
https://dl.doubtnut.com/l/_0zUPFloZXLGT


Watch Video Solution

65. Write three terms of G.P. when the first term

'a' and the common ratio 'r' are given. 

a= 10, r = -2

Watch Video Solution

66. Write three terms of G.P. when the first term

'a' and the common ratio 'r' are given. 

, r=-x

Watch Video Solution

a = x3

https://dl.doubtnut.com/l/_0zUPFloZXLGT
https://dl.doubtnut.com/l/_lIrbB8T5Jh5Q
https://dl.doubtnut.com/l/_g92coKxkpIPw


67. Write three terms of G.P. when the first term

'a' and the common ratio 'r' are given. 

Watch Video Solution

√7, √21, 3√7, 3√21

68. For each geometric progression find the

common ratio 'r', and then find . 


(ii) 

Watch Video Solution

an

2, − 6, 18, − 54

https://dl.doubtnut.com/l/_g92coKxkpIPw
https://dl.doubtnut.com/l/_FyH9gm9cBxKC
https://dl.doubtnut.com/l/_3sofg6vvTqJ4


69. For each of the G.Ps , find the common ratio

and then find  


5,10,20,40,…

Watch Video Solution

an

70. For each of the G.Ps , find the common ratio

and then find  


4,2,1…..

Watch Video Solution

an

https://dl.doubtnut.com/l/_bidJUhceZKEg
https://dl.doubtnut.com/l/_Nv658OypwqOd


71. For each of the G.Ps , find the common ratio

and then find  


3,9,27,81,…

Watch Video Solution

an

72. Find the  term and  term of the G.P.

4,12,36…. .

Watch Video Solution

20th nth

https://dl.doubtnut.com/l/_jVftJcMqb01y
https://dl.doubtnut.com/l/_p5aXokqsgmGn


73. Find the indicated term of each G.P. 

 find 

Watch Video Solution

a1 = 1, r = 1.2, a4

74. Find the indicated term of each G.P. 

, find .

Watch Video Solution

a1 = 768, r =
1

2
a6

75. Which term of the G.P. 

is 64?2, 2√2, 4, …. .

https://dl.doubtnut.com/l/_B12JXjuM63p4
https://dl.doubtnut.com/l/_ujE94RmnIgLh
https://dl.doubtnut.com/l/_synARRcAkRle


Watch Video Solution

76. Which term of the G.P. 

5,15,45,…. Is 3645?

Watch Video Solution

77. Which term of the G.P. 

4,2,1….is ?

Watch Video Solution

1

128

https://dl.doubtnut.com/l/_synARRcAkRle
https://dl.doubtnut.com/l/_IzpAVYW2MCyy
https://dl.doubtnut.com/l/_9Ga2M3G6Vx74
https://dl.doubtnut.com/l/_8uD16Y9V5g1f


78. Determine the  term of a G.P. whose 

term is 1 and common ratio is 

Watch Video Solution

18th 5th

2

3

79. Find the value (s) of x so that 

are three consecutive terms of a G.P.

A. 7/9, 5/9

B. 2/9, 6/9

C. 1/3, 1

D. 4/9, 5/9

1, 3x − 2,
1

9

https://dl.doubtnut.com/l/_8uD16Y9V5g1f
https://dl.doubtnut.com/l/_1r4pbOUUaJKg


Answer:

Watch Video Solution

80. The  and  terms of a G.P. are p,q

and s respectively. Then =………

Watch Video Solution

5th, 8th 11th

q2

81. The first term of a G.P. is 9 and  term is 

? Which term of the G.P. is 1/59049

Watch Video Solution

5th

1

729

https://dl.doubtnut.com/l/_1r4pbOUUaJKg
https://dl.doubtnut.com/l/_RmowCqrNCPBv
https://dl.doubtnut.com/l/_ahklDTVTmifR


82. The  term of a G.P. is 192 and its  term

is 1536, which term of G.P. is 6?

Watch Video Solution

8th 11th

83. If the seventh term of a G.P. is 27 and its 

term is 243, find its  term.

Watch Video Solution

21st

14th

https://dl.doubtnut.com/l/_ahklDTVTmifR
https://dl.doubtnut.com/l/_1CNm7BCme7u1
https://dl.doubtnut.com/l/_89h7eYHh98YE


84. How many terms of A.P.  ……

are needed to obtain a sum -25?

A. 10 or 25

B. 15 or 18

C. 5 or 20

D. 8 or 12

Answer:

Watch Video Solution

−6, , − 5
−11

2

https://dl.doubtnut.com/l/_ZyPUIKq6RPjN


85. The sum of natural numbers from 1 to 100 is

A. 4050

B. 10100

C. 55

D. 5050

Answer:

Watch Video Solution

86. The sum of first 50 even numbers is

https://dl.doubtnut.com/l/_WcnIcaXbjhUZ
https://dl.doubtnut.com/l/_uSVfnm8oQaa8


A. 1250

B. 2550

C. 1275

D. 2275

Answer:

Watch Video Solution

87. The sum of first 20 odd numbers is

A. 400

https://dl.doubtnut.com/l/_uSVfnm8oQaa8
https://dl.doubtnut.com/l/_HvOCFw5gNzRE


B. 210

C. 420

D. 5

Answer:

Watch Video Solution

88. If  are in A.P., then x is

equal

A. 5

x − 1, x + 3, 3x − 1

https://dl.doubtnut.com/l/_HvOCFw5gNzRE
https://dl.doubtnut.com/l/_DCzcTteywS1v


B. 8

C. 420

D. 405

Answer:

Watch Video Solution

89. The numbers , is …………

is

A. A.P. with d= 4

−15, − 11, − 7, − 3

https://dl.doubtnut.com/l/_DCzcTteywS1v
https://dl.doubtnut.com/l/_XGbFF9QhrnlM


B. A.P. with d = -4

C. A.P. with d= 8

D. G.P.

Answer:

Watch Video Solution

90. The next term of the A.P. 

, ……….. Is

A. 

√48, √75, √108, √147

√27

https://dl.doubtnut.com/l/_XGbFF9QhrnlM
https://dl.doubtnut.com/l/_lzw8zr3PATUG


B. 

C. 

D. 

Answer:

Watch Video Solution

√197

√192

√243

91. Which term of the A.P. 24,21,18,… is the first

negative?

A. a10

https://dl.doubtnut.com/l/_lzw8zr3PATUG
https://dl.doubtnut.com/l/_IAHqIXmiCVG0


B. 

C. 

D. 

Answer:

Watch Video Solution

a9

a6

a11

92. Which term of the A.P. 125, 120, 115, ……….. Is

the first negative?

A. 25th

https://dl.doubtnut.com/l/_IAHqIXmiCVG0
https://dl.doubtnut.com/l/_ks3JrtQoXL0v


B. 

C. 

D. 

Answer:

Watch Video Solution

26th

24th

27th

93. Which term of the A.P 

100 , 90, 80, ……….. Is zero?

A. 10th

https://dl.doubtnut.com/l/_ks3JrtQoXL0v
https://dl.doubtnut.com/l/_RrFEXg5x6EjA


B. 

C. 

D. 

Answer:

Watch Video Solution

9th

11th

12th

94. , ………… the next

term of the A.P. is

A. a+2d

(a + 3d), (a + d), (a − d)

https://dl.doubtnut.com/l/_RrFEXg5x6EjA
https://dl.doubtnut.com/l/_VKbDURseVXog


B. a-2d

C. a-4d

D. a-3d

Answer:

Watch Video Solution

95. The sum of 15 terms of the A.P. 4, 7, 10, ………. Is

A. 385

B. 475

https://dl.doubtnut.com/l/_VKbDURseVXog
https://dl.doubtnut.com/l/_cg9287C3iuIv


C. 375

D. 325

Answer:

Watch Video Solution

96. If , then the common difference

of the A.P. is

A. 8

B. 6

a7 − a3 = 32

https://dl.doubtnut.com/l/_cg9287C3iuIv
https://dl.doubtnut.com/l/_zVMcdB04IWnT


C. 4

D. 6

Answer:

Watch Video Solution

97. , then the common difference

of the A.P. is

A. 3

B. 5

a28 − a23 = 15

https://dl.doubtnut.com/l/_zVMcdB04IWnT
https://dl.doubtnut.com/l/_jgw2k9Es5X4c


C. 7

D. 15

Answer:

Watch Video Solution

98. if a, b,c are in A.P. then b =

A. a+c

B. 

C. a-c

a + c

2

https://dl.doubtnut.com/l/_jgw2k9Es5X4c
https://dl.doubtnut.com/l/_tgx7Pz5cgN4F


D. 

Answer:

Watch Video Solution

a − c

2

99. The  term of 1.1, 2.2, 3.3, 4.4, ………….. Is

A. 18.7

B. 19.8

C. 17.6

D. 17.17

17th

https://dl.doubtnut.com/l/_tgx7Pz5cgN4F
https://dl.doubtnut.com/l/_hpU4ZK3nEKTn


Answer:

Watch Video Solution

100. The  term of 


………. is

A. 

B. 

C. 60

D. 80

25th

−300, − 290, − 280,

−60

−80

https://dl.doubtnut.com/l/_hpU4ZK3nEKTn
https://dl.doubtnut.com/l/_Phe8F9yvDnh7


Answer:

Watch Video Solution

101. How many numbers are divisible by 4 lying

between 101 and 250 ?

A. 40

B. 62

C. 38

D. 37

https://dl.doubtnut.com/l/_Phe8F9yvDnh7
https://dl.doubtnut.com/l/_aVEp1gxGD9SX


Answer:

Watch Video Solution

102. The common ratio of the G.P. 

3, 6, 12, 24, ………. Is

A. 3

B. 2

C. 

D. 

1

2

1

3

https://dl.doubtnut.com/l/_aVEp1gxGD9SX
https://dl.doubtnut.com/l/_jaXsxD6Gpkjq


Answer:

Watch Video Solution

103. The common ratio of the G.P. 192, 48, 12,….is

A. 4

B. 2

C. 6

D. 

Answer:

1

4

https://dl.doubtnut.com/l/_jaXsxD6Gpkjq
https://dl.doubtnut.com/l/_yzqW4ObZ9NI9


Watch Video Solution

104. The  term of  is

A. 1

B. 

C. 0

D. 

Answer:

Watch Video Solution

103rd 1, − 1, 1, − 1, …. .

−1

−2

https://dl.doubtnut.com/l/_yzqW4ObZ9NI9
https://dl.doubtnut.com/l/_18FSj7vCOANa
https://dl.doubtnut.com/l/_w7tOnPykJ7o9


105. Which term of the G.P. 

?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2, 6, 18, 54, ………………is2 × 310

10th

11th

12th

9th

https://dl.doubtnut.com/l/_w7tOnPykJ7o9


106. If  of a G.P. is 343, then the common

ratio is

A. 11

B. 9

C. 3

D. 7

Answer:

Watch Video Solution

a7 + a4

https://dl.doubtnut.com/l/_KXLk2DLUUX1B


107. If a, b, c are in G.P., then b =

A. ac

B. 

C. 

D. 

Answer:

Watch Video Solution

a + c

2

a2c2

√ac

108. 8,x,10 are in G.P then x=

https://dl.doubtnut.com/l/_jQdyezXRLtzc
https://dl.doubtnut.com/l/_jP6N5jepUPzd


A. 7

B. 6

C. 8

D. 5

Answer:

Watch Video Solution

109. If `3, x, 11 are in A.P. , then x =

A. √21

https://dl.doubtnut.com/l/_jP6N5jepUPzd
https://dl.doubtnut.com/l/_vzH26xb2EZYd


B. 14

C. 4

D. 7

Answer:

Watch Video Solution

110. If x, xy , , …………. Forms a G.P., then its 

 term is

A. 

xy2, xy3

15th

xy15

https://dl.doubtnut.com/l/_vzH26xb2EZYd
https://dl.doubtnut.com/l/_oLpvd5kNU3QN


B. 

C. 

D. 

Answer:

Watch Video Solution

xy14

x14y

x15y

111. if a = 3 and , then  is

A. 55

B. 53

a7 = 33 a11

https://dl.doubtnut.com/l/_oLpvd5kNU3QN
https://dl.doubtnut.com/l/_ZF56WXmutPOY


C. 73

D. 63

Answer:

Watch Video Solution

112.  which term

of this A.P. is a first positive term?

A. 10

B. 11

−20, − 18, − 16, …………

https://dl.doubtnut.com/l/_ZF56WXmutPOY
https://dl.doubtnut.com/l/_2DoVHTennhlx


C. 12

D. 9

Answer:

Watch Video Solution

113. 1,-1, 1, -1,1,-1,…… up to 131 terms, then  =

A. 1

B. 

C. 131

S131

−1

https://dl.doubtnut.com/l/_2DoVHTennhlx
https://dl.doubtnut.com/l/_6dSenCydTUTb


D. 130

Answer:

Watch Video Solution

114. The  term of the AP 3,11,19,…. Is ……….

A. 73

B. 16

C. 75

D. 85

10th

https://dl.doubtnut.com/l/_6dSenCydTUTb
https://dl.doubtnut.com/l/_vyZ7RiJbNOB9


Answer:

Watch Video Solution

115. ………. term of AP 21 , 18, 15, ……. is -81.

A. 35

B. 16

C. 30

D. none

Answer:

https://dl.doubtnut.com/l/_vyZ7RiJbNOB9
https://dl.doubtnut.com/l/_NT43XaUVlyfG


Watch Video Solution

116. The  term from the end of the AP 7,10,13,

….. 184 is ………..

A. 324

B. 181

C. 163

D. 161

Answer:

Watch Video Solution

8th

https://dl.doubtnut.com/l/_NT43XaUVlyfG
https://dl.doubtnut.com/l/_gUfA8KiumoUb


117. The nth term of , ……… is

………….

A. a+(n-1)d

B. a-(n+1)d

C. 

D. d+(n-1)a

Answer:

Watch Video Solution

a, a + d, a + 2d

a2 − (n − 1)d

https://dl.doubtnut.com/l/_gUfA8KiumoUb
https://dl.doubtnut.com/l/_EkPXWKBlxm2i
https://dl.doubtnut.com/l/_IXLKK8DnB80I


118. In the AP, first term is 4 and common

difference is  then AP is ………..

A. 9,3,-6…

B. 10,12,14,…

C. 5,8,16,…

D. 4,3,2,…

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_IXLKK8DnB80I


119. The AP with first term is 8 and common

difference  is ……………

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

2
1

2

8, 10 , 13, …
1

2

8, 10, 11
1

2

16, 15 , 10
1

2

1

2

https://dl.doubtnut.com/l/_CXA72A6t2hIM


120. In the AP -9 , -14, -19, -24, ………  =

………….

A. 80

B. 

C. 50

D. 

Answer:

Watch Video Solution

a30 − a20

−60

−50

https://dl.doubtnut.com/l/_jPXO4r8MBKO5


121. The next term of the AP 51, 59 , 67 , 75 is

……………….

A. 12

B. 16

C. 83

D. 38

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vnDuI8g4At3w


122. Find the sums given below: 

(iii) 

A. 66

B. 76

C. 86

D. none

Answer:

Watch Video Solution

−5 + ( − 8) + ( − 11) + …… + ( − 230)

https://dl.doubtnut.com/l/_rL08llMeTtWA


123. 15th term of the AP , ………

is ………….

A. x+63

B. x-6

C. x-63

D. x+16

Answer:

Watch Video Solution

x − 7, x − 2, x + 3

https://dl.doubtnut.com/l/_0GDCpF59MEy6


124. The common ratio of the GP 

Is ……….

A. 8

B. 2

C. 5

D. 9

Answer:

Watch Video Solution

4, 20, 100, 500, …….

https://dl.doubtnut.com/l/_RxALiMhi1b3a


125. The 16th term of 4, -4, 4, -4, ………. Is ………………

A. 16

B. 8

C. 4

D. 

Answer:

Watch Video Solution

−4

https://dl.doubtnut.com/l/_3DIhqUoOUWPr


126. The common difference of AP 1, -1, -3, ……. Is

…………

A. 

B. 1

C. 2

D. 10

Answer:

Watch Video Solution

−2

https://dl.doubtnut.com/l/_2SeZpkdzkESw


127. In the AP -11, -9, -7, ………..d = ………….

A. 4

B. 3

C. 

D. 2

Answer:

Watch Video Solution

−2

128. In the A.P 100,103,106,….d=…

https://dl.doubtnut.com/l/_xjf5pCAGIi9F
https://dl.doubtnut.com/l/_XXnq5XdY6Bvy


A. 4

B. 8

C. 6

D. none

Answer:

Watch Video Solution

129. A GP with r = -2 is ……………..

A. 5,-10,20,-40,….

https://dl.doubtnut.com/l/_XXnq5XdY6Bvy
https://dl.doubtnut.com/l/_muBmVpAU5EUR


B. 2,4,8,16

C. 3,-6,10,16

D. all

Answer:

Watch Video Solution

130. A GP with r = -2 is ……………..

A. 7,14,28,…..

B. 8,16,10,…

https://dl.doubtnut.com/l/_muBmVpAU5EUR
https://dl.doubtnut.com/l/_yV5FFnBUCRWC


C. 12,24,19,….

D. none

Answer:

Watch Video Solution

131. 5, 10, 15, …… 10th term is ………

A. 20

B. 9-

C. 60

https://dl.doubtnut.com/l/_yV5FFnBUCRWC
https://dl.doubtnut.com/l/_zkJiFX5npgtd


D. 50

Answer:

Watch Video Solution

132. 8, 16, 32, ………….6th term is ………..

A. 256

B. 156

C. 108

D. none

https://dl.doubtnut.com/l/_zkJiFX5npgtd
https://dl.doubtnut.com/l/_46K6U7htYckZ


Answer:

Watch Video Solution

133. ,……..11th term is ………..

A. 1

B. 

C. 10

D. 9

Answer:

−1, 1, − 1

−1

https://dl.doubtnut.com/l/_46K6U7htYckZ
https://dl.doubtnut.com/l/_i8esyzXVzbpL


Watch Video Solution

134.  = ……………..

A. 1

B. 12

C. 10

D. 6

Answer:

Watch Video Solution

−8, − 6, − 4, …………. a7

https://dl.doubtnut.com/l/_i8esyzXVzbpL
https://dl.doubtnut.com/l/_XvKrgcaJxptW
https://dl.doubtnut.com/l/_I7zq2LKhSCet


135. 1,2,3, …… sum to 10 term is ………….

A. 55

B. 65

C. 60

D. 90

Answer:

Watch Video Solution

136. If a,b,c are in GP then = …….b2

https://dl.doubtnut.com/l/_I7zq2LKhSCet
https://dl.doubtnut.com/l/_JnROZgPXpn0P


A. 

B. 

C. 

D. ac

Answer:

Watch Video Solution

c

a

a

c

√ac

137. In a GP = …………..

A. 

a6

ar5

https://dl.doubtnut.com/l/_JnROZgPXpn0P
https://dl.doubtnut.com/l/_TSQa1QS5WCSO


B. 

C. 

D. all

Answer:

Watch Video Solution

a5t

a5t5

138. Which term of G.P 2,8,32,….is 512?

A. 16

B. 5

https://dl.doubtnut.com/l/_TSQa1QS5WCSO
https://dl.doubtnut.com/l/_iSYnzvB1wS4u


C. 9

D. 10

Answer:

Watch Video Solution

139. 

A. 

B. 

C. 

, , , …. a7
1

3

1

9

1

27

1

1827

1

2187

1

8127

https://dl.doubtnut.com/l/_iSYnzvB1wS4u
https://dl.doubtnut.com/l/_a8on5Z1xzqVg


D. none

Answer:

Watch Video Solution

140. 3, ….r=

A. 1

B. 2

C. 

D. none

,
3

2

3

4

−1

https://dl.doubtnut.com/l/_a8on5Z1xzqVg
https://dl.doubtnut.com/l/_BVOZwIqBB06A


Answer:

Watch Video Solution

141. If `2, x, 6 are in GP then x = ……………

A. 

B. 

C. 

D. 

Answer:

2√3

8√3

2√2

√3

https://dl.doubtnut.com/l/_BVOZwIqBB06A
https://dl.doubtnut.com/l/_IvEKdHZcywCF


Watch Video Solution

142. 4, 16, , 256,……… then  = ……….

A. 161

B. 64

C. 62

D. 68

Answer:

Watch Video Solution

□ □

https://dl.doubtnut.com/l/_IvEKdHZcywCF
https://dl.doubtnut.com/l/_wy4T8yuYw6dx
https://dl.doubtnut.com/l/_uCX2qObbPlU3


143. 1+2+3+..+n=….

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

n(n + 1)

2

n(n − 1)

2

n2 + 1
2

https://dl.doubtnut.com/l/_uCX2qObbPlU3


144. Using the principle of Mathematical

Induction , , prove that 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∀n ∈ N

12 + 22 + 32 + .... . n2 =
n(n + 1)(2n + 1)

6

n2(n − 1)
2

2

n(2n + 1)

4

n(n + 1)(2n + 1)

6

(n + 1)2

2

https://dl.doubtnut.com/l/_wCZprepC6O7E
https://dl.doubtnut.com/l/_Vg042pAwOcj5


145. In an AP  then 

A. 

B. 0

C. 1

D. 7

Answer:

Watch Video Solution

7a7 = 11a11 a18 = ……….

−1

146. AM of 24 and 16 is ………….

https://dl.doubtnut.com/l/_Vg042pAwOcj5
https://dl.doubtnut.com/l/_VIX9s62ygj52


A. 22

B. 19

C. 16

D. 20

Answer:

Watch Video Solution

147. If a,b,c are in AP then 2b = ………….

A. a+c

https://dl.doubtnut.com/l/_VIX9s62ygj52
https://dl.doubtnut.com/l/_v6ahfitIGya1


B. a-c

C. 

D. 

Answer:

Watch Video Solution

a + c

2

a

2

148. The sum of first 40 positive intergers

divisible by 6 is …………

A. 9420

https://dl.doubtnut.com/l/_v6ahfitIGya1
https://dl.doubtnut.com/l/_5xWYggaBqTbQ


B. 4920

C. 9920

D. 1290

Answer:

Watch Video Solution

149. 

A. 30

B. 10

an = 9 − 5n, a4 = ………….

https://dl.doubtnut.com/l/_5xWYggaBqTbQ
https://dl.doubtnut.com/l/_81VeJhwskFUw


C. 11

D. 

Answer:

Watch Video Solution

−11

150. In a GP,  then  = …………

A. 3072

B. 7032

C. 1032

a8 = 192, r = 2 a12

https://dl.doubtnut.com/l/_81VeJhwskFUw
https://dl.doubtnut.com/l/_d8GQS0azONVj


D. 1100

Answer:

Watch Video Solution

151. 2, -6, 18, -54, ………….r = ………….

A. 

B. 3

C. 1

D. 

−3

−2

https://dl.doubtnut.com/l/_d8GQS0azONVj
https://dl.doubtnut.com/l/_rmTGELKQlNHP


Answer:

Watch Video Solution

152. 5/2, 5/4, 5/8, …………  = …………….

A. 

B. 

C. 

D. none

Answer:

an

5

2n− 1

5

2n

5

2n− 2

https://dl.doubtnut.com/l/_rmTGELKQlNHP
https://dl.doubtnut.com/l/_qaUgZpjC0Yov


Watch Video Solution

153. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

, − 2, , …………. . a5 = …………….
1

√2

8

√2

16√2

32√2

6√2

31√2

https://dl.doubtnut.com/l/_qaUgZpjC0Yov
https://dl.doubtnut.com/l/_3y7YtrY66h8u


154. 

A. 

B. 729

C. 829

D. 114

Answer:

Watch Video Solution

3, − 32, 33, ………. a6 = …………. .

−729

https://dl.doubtnut.com/l/_3y7YtrY66h8u
https://dl.doubtnut.com/l/_SQKOb9CKrAY1


155. In a G.P. 

A. 

B. 9

C. 

D. none

Answer:

Watch Video Solution

a = 81, r = − , a3 = ……….
1

3

−9

−3

156. In a G.P. 25, -5, 1, -1/5, ……..r = …….

https://dl.doubtnut.com/l/_eNwaWZFwYoWq
https://dl.doubtnut.com/l/_K701nzhaPorY


A. 

B. 2

C. 

D. 

Answer:

Watch Video Solution

−
3

5

−1

−
1

5

157.  in A.P.=

A. 

Sn

[a + l]
n

2

https://dl.doubtnut.com/l/_K701nzhaPorY
https://dl.doubtnut.com/l/_F88IXP9eUGtA


B. 

C. 2n(a+l)

D. none

Answer:

Watch Video Solution

[a + l]
n

3

158. In AP , then a = …………..

A. 8

B. 

a12 = 37, d = 3

−4

https://dl.doubtnut.com/l/_F88IXP9eUGtA
https://dl.doubtnut.com/l/_jtbf2irE3SAH


C. 

D. 4

Answer:

Watch Video Solution

−3

159. Find =….
of GP 2, 4, 8, 16,......

A. 246

B. 146

C. 126

S7

https://dl.doubtnut.com/l/_jtbf2irE3SAH
https://dl.doubtnut.com/l/_TqpKUsGA5fZG


D. 112

Answer:

Watch Video Solution

160. ,…………. . Sum to 10 terms = ………….

A. 26.5

B. 16.25

C. 36.25

D. 46.25

−1, ,
1

4

3

2

https://dl.doubtnut.com/l/_TqpKUsGA5fZG
https://dl.doubtnut.com/l/_PVBw9vdlvROd


Answer:

Watch Video Solution

161. Find the sums given below: 

(iii) 

A. 

B. 8930

C. 8390

D. none

−5 + ( − 8) + ( − 11) + …… + ( − 230)

−8930

https://dl.doubtnut.com/l/_PVBw9vdlvROd
https://dl.doubtnut.com/l/_1SsDAmwmQYgK


Answer:

Watch Video Solution

162. Find the sum of : 

(i) The first 1000 positive intergers .

A. 500500

B. 50051

C. 8005

D. none

https://dl.doubtnut.com/l/_1SsDAmwmQYgK
https://dl.doubtnut.com/l/_JmIkzXIZg52o


Answer:

Watch Video Solution

163.  terms = …….

A. 119

B. 

C. 891

D. 

Answer:

16 + 11 + 6 + ……….23

−987

−897

https://dl.doubtnut.com/l/_JmIkzXIZg52o
https://dl.doubtnut.com/l/_MXAMGBzwaN3Z


Watch Video Solution

164. Identify the number of 3 digit number that

divisible by 7.

A. 126

B. 128

C. 122

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MXAMGBzwaN3Z
https://dl.doubtnut.com/l/_nOvohvGsn5JX


165. In an AP  then  = …….

A. 3

B. 6

C. 1

D. 

Answer:

Watch Video Solution

a1 = − 4, a6 = 6 a2

−2

https://dl.doubtnut.com/l/_nOvohvGsn5JX
https://dl.doubtnut.com/l/_j8F82Lg8fzDa


166. In the above problem =…

A. 4

B. 

C. 6

D. 

Answer:

Watch Video Solution

a5

32

−4

https://dl.doubtnut.com/l/_pEBHEHjWkCuF


167. In the formula `a_(n) = 3.6, a = - 18.9, d = 2.5, n

= ……………

A. 13

B. 12

C. 10

D. 20

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dfjk6Z6NfcFA


168. 5, 1, -3, -7, ………. = ……………..

A. 

B. 22

C. 31

D. 

Answer:

Watch Video Solution

a10

−23

−31

169. , d = ………., , ,
1

4

−1

4

−3

4

−5

4

https://dl.doubtnut.com/l/_oactFiBYrIAG
https://dl.doubtnut.com/l/_Vx3ofmeJu2oh


A. 

B. 

C. 2

D. 

Answer:

Watch Video Solution

−
1

2

1

2

−1

170. If 4, x , 16 are in G.P. then x = ………..

A. 12

https://dl.doubtnut.com/l/_Vx3ofmeJu2oh
https://dl.doubtnut.com/l/_IIPRyilRnhxs


B. 16

C. 8

D. none

Answer:

Watch Video Solution

171. =…..

A. 

B. 

13 + 23 + 33 + … + n3

n

2

(n + 1)
2

2

https://dl.doubtnut.com/l/_IIPRyilRnhxs
https://dl.doubtnut.com/l/_ENAyN6GY0TVw


C. 

D. 

Answer:

Watch Video Solution

n(n + 1)

2

n2(n + 1)
2

4

172. G.M. of a and b is ………….

A. 

B. 

C. 

√ab

ab

2

a + b

2

https://dl.doubtnut.com/l/_ENAyN6GY0TVw
https://dl.doubtnut.com/l/_51u9Nm0StJck


D. none

Answer:

Watch Video Solution

173. G.M. of a and  is ……….

A. 

B. 1

C. 7

D. 8

1

a

−3

https://dl.doubtnut.com/l/_51u9Nm0StJck
https://dl.doubtnut.com/l/_Yga5LSlL2mRn


Answer:

Watch Video Solution

174. Reciprocals of term of GP is ……….

A. AP

B. GP

C. HP

D. none

Answer:

https://dl.doubtnut.com/l/_Yga5LSlL2mRn
https://dl.doubtnut.com/l/_8wnRRahJG2aB


Watch Video Solution

175. If a, b, c are in GP then 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

= ………….
b

a

c

b

b

c

1

b

https://dl.doubtnut.com/l/_8wnRRahJG2aB
https://dl.doubtnut.com/l/_wUAGmZZYDsRO
https://dl.doubtnut.com/l/_3hvVfoBHFre0


176. `1+1+1+…….+ n terms = ……….

A. ar

B. 

C. 

D. 

Answer:

Watch Video Solution

arn− 1

an− 1

rn− 1a

2

177. If a,b,c are in GP then b is called ………

https://dl.doubtnut.com/l/_3hvVfoBHFre0
https://dl.doubtnut.com/l/_mGHCPK0XXNHh


A. 

B. n

C. n-1

D. none

Answer:

Watch Video Solution

n

2

178. If a,b,c are in GP then b is called ………

A. Geometric mean

https://dl.doubtnut.com/l/_mGHCPK0XXNHh
https://dl.doubtnut.com/l/_hIN7tDZYuhnl


B. Arithmetic mean

C. Number

D. None

Answer:

Watch Video Solution

179. 

A. 100

B. 1001

∑n = 10, ∑n3 = ……………

https://dl.doubtnut.com/l/_hIN7tDZYuhnl
https://dl.doubtnut.com/l/_SMAmsZQ6Z9uL


C. 200

D. 80

Answer:

Watch Video Solution

180. In a series  = .......

A. 41

B. 3

C. 4

an = , a2
n(n + 1)

2

https://dl.doubtnut.com/l/_SMAmsZQ6Z9uL
https://dl.doubtnut.com/l/_BZKh45nVgfXZ


D. 2

Answer:

Watch Video Solution

181. AM of 10 and 20 is …………

A. 12

B. 15

C. 25

D. 10

https://dl.doubtnut.com/l/_BZKh45nVgfXZ
https://dl.doubtnut.com/l/_fiOshrjbIMnp


Answer:

Watch Video Solution

182.  then 

A. 1

B. 0

C. 2

D. 3

Answer:

an = (n − 1)(n − 2) a2 = ……….

https://dl.doubtnut.com/l/_fiOshrjbIMnp
https://dl.doubtnut.com/l/_j1Y6LEV7HVio


Watch Video Solution

183. If a,b,c are in AP then b-a = …………..

A. c+b

B. a+b

C. c-b

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_j1Y6LEV7HVio
https://dl.doubtnut.com/l/_H9gKx89sBkNe
https://dl.doubtnut.com/l/_MORwA18hwM8N


184. Find the values of x so that  are

three consecutive terms of a G.P.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

, x,
−2

7

−7
2

±1

±2

±3

±4

https://dl.doubtnut.com/l/_MORwA18hwM8N


185. GM of 5 and 125 is …………

A. 13

B. 16

C. 10

D. 25

Answer:

Watch Video Solution

186.  in A.P.=Sn

https://dl.doubtnut.com/l/_dYOY4ZuJsJFZ
https://dl.doubtnut.com/l/_uRn129Th2NKh


A. 

B. 

C. n[2a+(n-1)d]

D. none

Answer:

Watch Video Solution

[2a + (n − 1)d]
n

2

[a + (n + 1) + d]
n

2

187.  = ...........

A. 

an = , a3
1

n + 2

1

2

https://dl.doubtnut.com/l/_uRn129Th2NKh
https://dl.doubtnut.com/l/_enKS5iYHe3Gw


B. 

C. 

D. none

Answer:

Watch Video Solution

5

3

3

5

188. The nth term of a GP is , r = …………

A. 

B. 

2(0.5)n− 1

−2

1

2

https://dl.doubtnut.com/l/_enKS5iYHe3Gw
https://dl.doubtnut.com/l/_5BGb5Xjcsi7z


C. 2

D. 

Answer:

Watch Video Solution

−1

189. Find out the common ratio in the GP `2,

sqrt(2),4,…..

A. 

B. 4

√3

https://dl.doubtnut.com/l/_5BGb5Xjcsi7z
https://dl.doubtnut.com/l/_jvkApUeubiLG


C. 3

D. 

Answer:

Watch Video Solution

√2

190. a,b,c are in AP then  are in …………….

A. GP

B. HP

C. AP

3a, 3b, 3c

https://dl.doubtnut.com/l/_jvkApUeubiLG
https://dl.doubtnut.com/l/_KWGsFlcb27hN


D. none

Answer:

Watch Video Solution

191. =…..

A. 110

B. 180

C. 100

D. none

2, , 3, …. S25
5

2

https://dl.doubtnut.com/l/_KWGsFlcb27hN
https://dl.doubtnut.com/l/_AhIeq6LkfV1a


Answer:

Watch Video Solution

192. AM of M, P, C is ………………

A. 

B. M-P-C

C. (M+P+C)/3`

D. 

Answer:

MPC

3

M + P − C

2

https://dl.doubtnut.com/l/_AhIeq6LkfV1a
https://dl.doubtnut.com/l/_Dmj8LlnlWCco


Watch Video Solution

193.  = ........

A. 32

B. 23

C. 18

D. 13

Answer:

Watch Video Solution

an = 2n, a5

https://dl.doubtnut.com/l/_Dmj8LlnlWCco
https://dl.doubtnut.com/l/_YeSGeKebsy7d
https://dl.doubtnut.com/l/_K0XKczXhyusK


194. AM of 5 and 95 is …………..

A. 105

B. 505

C. 501

D. 50

Answer:

Watch Video Solution

195. GM of  and = …………….x3 1

x3

https://dl.doubtnut.com/l/_K0XKczXhyusK
https://dl.doubtnut.com/l/_QLLxwmaeL7gq


A. 

B. 1

C. 3

D. none

Answer:

Watch Video Solution

−7

196. 

n − 1, n − 2, n − 3, ……. . a10 = …………. .

https://dl.doubtnut.com/l/_QLLxwmaeL7gq
https://dl.doubtnut.com/l/_UO2D18IhGxal


A. n-10

B. n-9

C. n+9

D. n-3

Answer:

Watch Video Solution

197. Product of n GM's between a and b is ………….

A. (ab)n/ 2

https://dl.doubtnut.com/l/_UO2D18IhGxal
https://dl.doubtnut.com/l/_6jksyfqvQsRQ


B. 

C. 

D. 

Answer:

Watch Video Solution

(ab)n

a

b

an

b

198. If  is the AM of a and b then n

= …………

A. 

an+ 1 + bn+ 1

an + bn

−
1

2

https://dl.doubtnut.com/l/_6jksyfqvQsRQ
https://dl.doubtnut.com/l/_N5Aa13bc5F0m


B. 1

C. 0

D. 4

Answer:

Watch Video Solution

199. 

A. 19

7, 10, 13, …………, a5 = ………………. .

https://dl.doubtnut.com/l/_N5Aa13bc5F0m
https://dl.doubtnut.com/l/_eDvBnm71M6ly


B. 100

C. 131

D. 12

Answer:

Watch Video Solution

200. 

A. 81

22, 32, 42, ………. , a7 = ………………

https://dl.doubtnut.com/l/_eDvBnm71M6ly
https://dl.doubtnut.com/l/_cqtA4ntX1YUH


B. 92

C. 69

D. 82

Answer:

Watch Video Solution

201. 1,4,7,10,………., d = ……………….

A. 13

B. 3

https://dl.doubtnut.com/l/_cqtA4ntX1YUH
https://dl.doubtnut.com/l/_HvrqbuYARoeZ


C. 4

D. none

Answer:

Watch Video Solution

202. In  then = ………….

A. q-p

B. p-q

C. 0

APap = q, aq = p ap+q

https://dl.doubtnut.com/l/_HvrqbuYARoeZ
https://dl.doubtnut.com/l/_Fp1g1pJwgX2R


D. 

Answer:

Watch Video Solution

−1

203. Which term of AP 7+4+1+……….is -56 ?

A. 22

B. 20

C. 18

D. 19

https://dl.doubtnut.com/l/_Fp1g1pJwgX2R
https://dl.doubtnut.com/l/_vijqXqlrbYFh


Answer:

Watch Video Solution

204. 1+6+4+9+7+12+………..to 40 terms

A. 20

B. 60

C. 90

D. none

Answer:

https://dl.doubtnut.com/l/_vijqXqlrbYFh
https://dl.doubtnut.com/l/_xNR0QS5nPFqX


Watch Video Solution

205. AM of  and  is ……………..

A. 

B. 

C. x

D. 2x

Answer:

Watch Video Solution

x2 + y2 x2 − y2

x2

2

x2

https://dl.doubtnut.com/l/_xNR0QS5nPFqX
https://dl.doubtnut.com/l/_ealDpaSbTlng
https://dl.doubtnut.com/l/_FMPXtuGG78Ka


206. a,b,c are in AP then  are in ………….

A. HP

B. GP

C. AP

D. None

Answer:

Watch Video Solution

, ,
1

a

1

b

1

c

https://dl.doubtnut.com/l/_FMPXtuGG78Ka


207. If there are n AM's between a and b then d =

………………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

b − a

n + 1

b

n + 1

a − b

n

b

n + 2

https://dl.doubtnut.com/l/_H9zAwKQeM13f


208. 10,100,1000,…..,r= ……

A. 12

B. 9

C. 8

D. 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OpTXLH8nrIqK


209. 

A. 3

B. 

C. 2

D. 

Answer:

Watch Video Solution

1 + + + ………. , r = ……………….
1

2

1

22

1
2

−1

https://dl.doubtnut.com/l/_bVswSEuuBvkm


210. 3,6,12,…….r = ………….

A. 1

B. 10

C. 3

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YjUbgi3VlVgX


211. 

A. a

B. 

C. 

D. none

Answer:

Watch Video Solution

a, a2, a3, ………. . , r = ……………….

a2

a3

https://dl.doubtnut.com/l/_8pGiWyOBZRa9


212. a,b,c are in AP then  are in ………….

A. GP

B. AP

C. HP

D. none

Answer:

Watch Video Solution

, ,
1

a

1

b

1

c

213. GM of x, y, z is ………….

https://dl.doubtnut.com/l/_YmNgQe0nxSxl
https://dl.doubtnut.com/l/_InVxe0A7G1FZ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

xyz3

3√xyz

xyz

3

x + y + z

3

214. The nth term if a GP =  here 'r'

means ........

an = arn− 1

https://dl.doubtnut.com/l/_InVxe0A7G1FZ
https://dl.doubtnut.com/l/_cGSMcZJSdoDx


A. common difference

B. common ratio

C. first term

D. radius

Answer:

Watch Video Solution

215. The 'n' th term of an A.P. is  then

the common difference is ………..

an = 3 + 2n

https://dl.doubtnut.com/l/_cGSMcZJSdoDx
https://dl.doubtnut.com/l/_ClaZ1O9zSwaM


A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

216. The common difference of the AP

 is ……….x − y, x, x + y

https://dl.doubtnut.com/l/_ClaZ1O9zSwaM
https://dl.doubtnut.com/l/_bLAOJJbQTo7U


A. x

B. y

C. 

D. 

Answer:

Watch Video Solution

−x

−y

217. The common difference of the AP

 is ………..2a − b, 4a − 3b, 6a − 5b

https://dl.doubtnut.com/l/_bLAOJJbQTo7U
https://dl.doubtnut.com/l/_II6070SahYeF


A. 2a-2b

B. a-b

C. 2a-b

D. 4a-3b

Answer:

Watch Video Solution

218. In a GP  then r =

…………..

a1 = 20 and a4 = 540

https://dl.doubtnut.com/l/_II6070SahYeF
https://dl.doubtnut.com/l/_bb7OX5wZLFHv


A. 27

B. 3

C. 520

D. 18

Answer:

Watch Video Solution

219. Formula for sum of 'n' terms in an AP =

…………..

https://dl.doubtnut.com/l/_bb7OX5wZLFHv
https://dl.doubtnut.com/l/_KK3PM0xWprCF


A. 

B. 

C.  or 

D. 

Answer:

Watch Video Solution

∑
n

=
n(n + 1)

2

∑
n2

=
n2(n + 1)(n + 2)

6

Sn = [2a + (n − 1)d]
n

2

Sn = [a + l]
n

2

an = a + (n − 1)d

220. In an A.P the  term = 5 and  term = 9

then the common difference=….

3rd 7th

https://dl.doubtnut.com/l/_KK3PM0xWprCF
https://dl.doubtnut.com/l/_6WU21FUHUpkn


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

221. In the formula of  term of term of a

Geometric Progression  denotes

........

nth

an = a ⋅ rn− 1, r

https://dl.doubtnut.com/l/_6WU21FUHUpkn
https://dl.doubtnut.com/l/_ywMZLYyeklHd


A.  term

B. number of terms

C. common ratio

D. first term

Answer:

Watch Video Solution

nth

222. Which of the following is a GP with a

common ratio .r = √2

https://dl.doubtnut.com/l/_ywMZLYyeklHd
https://dl.doubtnut.com/l/_Sc8R8FDYlVEx


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√2, √6, √18

√3, √6, √12

√5, √15, √45

√7, √21, √63

223. Which term of the G.P.3,9,22,…. Is 243?

A. 7

https://dl.doubtnut.com/l/_Sc8R8FDYlVEx
https://dl.doubtnut.com/l/_qIsjnLbyQWe8


B. 8

C. 6

D. 5

Answer:

Watch Video Solution

224. The series (n-1),(n-2),(n-3),…. Is a type of

A. AP

B. GP

https://dl.doubtnut.com/l/_qIsjnLbyQWe8
https://dl.doubtnut.com/l/_uFrMDss6bUUE


C. may be both

D. none

Answer:

Watch Video Solution

225. If log a, log b, log c are in A.P. then a,b,c are

A. A.P.

B. G.P.

C. Both A.P. and G.P.

https://dl.doubtnut.com/l/_uFrMDss6bUUE
https://dl.doubtnut.com/l/_oh8dOB7zxTpG


D. neither A.P. nor G.P.

Answer:

Watch Video Solution

226. ….write the first

term and the common difference.

Watch Video Solution

π + 2, π, π − 2, π − 4,

https://dl.doubtnut.com/l/_oh8dOB7zxTpG
https://dl.doubtnut.com/l/_XLgL40lvE6TO


227. If the  and  terms of an A.P. are -6 and

-21 respectively. Which term of this A.P. is zero?

Watch Video Solution

5th 10th

228. If the sum of the first n terms of an A.P. is

, what is the first term? What is the 

term,  term,  term and the  terms.

Watch Video Solution

3n + n2 2nd

3rd 10th nth

https://dl.doubtnut.com/l/_GkEUw38mz9DY
https://dl.doubtnut.com/l/_fPsxz9jM0Rl2


229. Find 'x' so that 5x-3,8x and 15x+3 are in G.P.

and taking x as positive integer.

Watch Video Solution

230. If the geometric progressions

256,64,16,….and ….. Have their 

terms equal, find the value of n?

Watch Video Solution

, , 1,
1

16

1

4
nth

231. 2a,3a,4a….is in AP then d=

https://dl.doubtnut.com/l/_9bTTTtnYXiAR
https://dl.doubtnut.com/l/_A1Dk6KYD0YvH
https://dl.doubtnut.com/l/_mDcxCztRWx1d


A. 4a

B. 2a

C. 3a

D. a

Answer:

Watch Video Solution

232. ,….. Are in G.P then r=

A. 

a3, a4, a5

a2

https://dl.doubtnut.com/l/_mDcxCztRWx1d
https://dl.doubtnut.com/l/_nhYiRkZXRGRb


B. 

C. 

D. a

Answer:

Watch Video Solution

a3

a4

233. G.M of P,Q,R is…..

A. 

B. 

Pr3

3√PQR

https://dl.doubtnut.com/l/_nhYiRkZXRGRb
https://dl.doubtnut.com/l/_NvAYTpSsxL17


C. 

D. 

Answer:

Watch Video Solution

PQR

3

P + Q + R

3

234. A.M of  and  is….

A. 

B. 

C. P

P 2 + Q2 P 2 − Q2

P 2

2

P 2

https://dl.doubtnut.com/l/_NvAYTpSsxL17
https://dl.doubtnut.com/l/_liicNqQMOf1k


D. 2P

Answer:

Watch Video Solution

235. P,Q,R are in A.P then  are in

A. G.P

B. A.P

C. HP

D. None

, ,
1

P

1

Q

1

R

https://dl.doubtnut.com/l/_liicNqQMOf1k
https://dl.doubtnut.com/l/_i4Cw5mmM3S0n


Answer:

Watch Video Solution

236. In A.P  and d=2 Then a=….

A. 3

B. 4

C. 2

D. 5

Answer:

a15 = 30

https://dl.doubtnut.com/l/_i4Cw5mmM3S0n
https://dl.doubtnut.com/l/_qwOUIIgG7dGc


Watch Video Solution

237. . Then =

A. 25

B. 125

C. 625

D. 10

Answer:

Watch Video Solution

∑n = 5 ∑n3

https://dl.doubtnut.com/l/_qwOUIIgG7dGc
https://dl.doubtnut.com/l/_xYpbdV2uZBHw
https://dl.doubtnut.com/l/_RGmhkoS3z0FM


238. A.M of 20 and 40 is…..

A. 15

B. 30

C. 40

D. 10

Answer:

Watch Video Solution

239. If =…..an = a4
n(n + 1)

2

https://dl.doubtnut.com/l/_RGmhkoS3z0FM
https://dl.doubtnut.com/l/_DTyF8fgfzyiD


A. 10

B. 8

C. 15

D. 6

Answer:

Watch Video Solution

240. 5, 1, -3, -7, ………. = ……………..

A. 

a10

−23

https://dl.doubtnut.com/l/_DTyF8fgfzyiD
https://dl.doubtnut.com/l/_kwMmMXg035SU


B. 22

C. 31

D. 

Answer:

Watch Video Solution

−31

241.  then =….

A. 13

B. 8

an = (n − 1)(n − 2) a5

https://dl.doubtnut.com/l/_kwMmMXg035SU
https://dl.doubtnut.com/l/_cC4JGJYRKSB9


C. 14

D. 12

Answer:

Watch Video Solution

242. Which term of AP 7+4+1+……….is -56 ?

A. 22

B. 20

C. 18

https://dl.doubtnut.com/l/_cC4JGJYRKSB9
https://dl.doubtnut.com/l/_95bdBBEdFR8a


D. 19

Answer:

Watch Video Solution

243. In a G.P, 25,125,625….. Then r=

A. 6

B. 10

C. 5

D. 25

https://dl.doubtnut.com/l/_95bdBBEdFR8a
https://dl.doubtnut.com/l/_0eKmzgQtecLC


Answer:

Watch Video Solution

244. 10,5,0….are in A.P then d=

A. 5

B. 

C. 10

D. 0

Answer:

−5

https://dl.doubtnut.com/l/_0eKmzgQtecLC
https://dl.doubtnut.com/l/_mgHniLs2LTqv


Watch Video Solution

245. If P,Q,R are in A.P then Q-P=…..

A. R+Q

B. P+Q

C. R-Q

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mgHniLs2LTqv
https://dl.doubtnut.com/l/_h6dR5lbjAbtr
https://dl.doubtnut.com/l/_vOXZ9GZbPd2X


246. Using the principle of Mathematical

Induction , , prove that 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∀n ∈ N

12 + 22 + 32 + .... . n2 =
n(n + 1)(2n + 1)

6

n

2

( )
2

n + 1
2

n(n + 1)

2

n(n + 1)(2n + 1)

6

https://dl.doubtnut.com/l/_vOXZ9GZbPd2X
https://dl.doubtnut.com/l/_iiHMgLNgOi6i


247. 1,2,3…..sum of 20 term is

A. 55

B. 220

C. 210

D. 90

Answer:

Watch Video Solution

248. In AP a=4 and . Then  is…..a4 = 16 a15

https://dl.doubtnut.com/l/_iiHMgLNgOi6i
https://dl.doubtnut.com/l/_gkyV9RVRw39t


A. 60

B. 70

C. 80

D. 90

Answer:

Watch Video Solution

249. If `3, x, 11 are in A.P. , then x =

A. 4

https://dl.doubtnut.com/l/_gkyV9RVRw39t
https://dl.doubtnut.com/l/_K3U6EfGkb1lm


B. 

C. 7

D. 5

Answer:

Watch Video Solution

√31

250. The  term of 10,50,90….is

A. 1970

B. 1980

50th

https://dl.doubtnut.com/l/_K3U6EfGkb1lm
https://dl.doubtnut.com/l/_iDzzE6ux9BdD


C. 2000

D. 1985

Answer:

Watch Video Solution

251. If  forms of G.P. Then its 

 term is

A. 

B. 

p, pq, pq2, pq3….

20th

pq18

pq17

https://dl.doubtnut.com/l/_iDzzE6ux9BdD
https://dl.doubtnut.com/l/_Z9dnM0XScU94


C. 

D. 

Answer:

Watch Video Solution

pq21

pq19

252. The common ratio of 4,16,64…..

A. 4

B. 16

C. 2

https://dl.doubtnut.com/l/_Z9dnM0XScU94
https://dl.doubtnut.com/l/_EBiBJ0SPZmpj


D. 8

Answer:

Watch Video Solution

253. The next term of G.P. in 3,9,27,….is

A. 81

B. 90

C. 270

D. 40

https://dl.doubtnut.com/l/_EBiBJ0SPZmpj
https://dl.doubtnut.com/l/_JRcuj6uT3yi4


Answer:

Watch Video Solution

254. The next term of A.P. in 5,10,15,….is

A. 25

B. 16

C. 20

D. 19

Answer:

https://dl.doubtnut.com/l/_JRcuj6uT3yi4
https://dl.doubtnut.com/l/_MFO2eC7Kp1YK


Watch Video Solution

255. 1,-1,1,-1,….upto 100 terms then what is 

term?

A. 

B. 1

C. 0

D. 50

Answer:

Watch Video Solution

50th

−1

https://dl.doubtnut.com/l/_MFO2eC7Kp1YK
https://dl.doubtnut.com/l/_HWM0kQ75x9el


256. Find the number of terms in the following

A.P. 

Watch Video Solution

7, 13, 19, …. .205

257. If l = 205 and A.P. 7,13,19,….. . Then find the no,

of terms in A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_HWM0kQ75x9el
https://dl.doubtnut.com/l/_VxcmMfDAqVjj
https://dl.doubtnut.com/l/_sySE3ImM0NaF


258. Which term of the AP 5,10,15,…. Is 90.

Watch Video Solution

259. Find the  term from the AP 3,6,9,….

Watch Video Solution

20th

https://dl.doubtnut.com/l/_M0SO0XfHhMxP
https://dl.doubtnut.com/l/_FA3N0UNGew0U

